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Question Number : 1 Question Id : 6154752666 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 1s the keyv teaching behaviour to make a teacher effective?

(1) Teachers' comments made for the purpose of organizing upcoming teaching process
(2) Use of content or process guestions by teacher

(3) Engagement of students in the learning process

(4) Using students’ 1ideas and contributions



Options:

61547510401, 1
61547510402 2
E1547510402. 2
61547510404, 4

Question Number : 1 Question Id : 6154752666 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547510401, 1
61547510402 2
61547510403 =
61547510404, 4

Question Number : 2 Question Id : 6154752667 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The basic requirements for organizing teaching at reflective level deal with

(1) Systematic and sequential presentation of facts and information by the teacher
(2) Helping explore and explain problems and their solutions by students

(3) Tranzlating and interpreting the facts by the students

(4) (iving concrete facts and action sequences by the teacher

Options:

E1547510405. 1
61547510406, 2
61547510407, 3
61547510408, 4

Question Number : 2 Question Id : 6154752667 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

51547510405, 1
61547510406, 2
61547510407, =
61547510408, 4

Question Number : 3 Question Id : 6154752668 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Identify the factors affecting teaching related to positive learning environment In an

institution :
(1)  The extent to which teachers make clear presentation

(1) The scope for sharing and open dizcussions within the classroom and the institution as

such
(i11) Teacher's mastery of the content as reflected 1n answering students’ guestions
(1v) Frequent use of positive reinforcers either in the institution or classroom
(v}  Avwvailability of teacher and his/her guidance
Choose the correct answer from the options given helow :

(1) (1) and (111)
(2) (11) and (111)
(3) (1v) and (v)
(4) (11) and (1v)

Options:

61547510409, 1
61547510410 2
61547510411, =
61547510412 4



Question Number : 3 Question Id : 6154752668 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
61547510409, 1
61547510410, 2

E1547510411. 2
B154751041%. 4

Question Number : 4 Question Id : 6154752669 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



In the following list, which belong to the category of learner-centred approaches?
(1) SWAYAM

(1) Computer-aided instruction

() MOOCS

(1v) Quizzes

(v} Buzz-sessions

Select the correct answer from the options given below :

(1) (1) and (111)
(2) (1) and (111)
(3) {(11) and (1v)

(4) {(111) and (v)

Options:

615475104131
61547510414, 2
61547510415 =
61547510416 4

Question Number : 4 Question Id : 6154752669 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547510413, 1
61547510414 2
61547510415 =
61547510416 4

Question Number : 5 Question Id : 6154752670 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In the following two sets. set I mentions the evaluation svstem while set II gives thewr

descriptive features. Match the two sets

Set I
(Evaluation system)
(a) Formative evaluation (1)
(b)  Summative evaluation (11)
(c) Norm-referenced testing (111)
(d) Crterion-referenced testing (1v)
(v)

Set 11
(Descriptive features)

Comparing the students’ performance
with that of others

Indicating standards of mastery
Diagnosing students’ problems
Identifving scope for improvement

Judging learning standards

Choose the correct answer from the options given below :

(1) (a)-(1v). (b)-(v). (c)-(1). (d)-(11)

(2) (a)-(1). (b)-(11). (€)-(111). (d)-(1v)
(3) (a)-(111). (b)-(1v). (e)-(11). (d)-(1)
(4) (a)-(11). (b)-(111). (c)-(v). (d)-(1v)
Options:

615475104171
615475104158, 2
61547510419 3
61547510420, 4

Question Number : 5 Question Id : 6154752670 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0
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(1) (a)-(1v). (b)-(v). (e)-(1). (d)-(11)
(2) (a)-(1). (b)-(11). (c)-(111). (d)-(1v)
(3) (a)-(111). (b)-(1v). (c)-(11). (d)-(1)
(4) (a)-(11). (b)-(111). (e)-(v). (d)-(1v)

Options:

15475104171

E1E47E10418. 2

E1547510413. 3
E1547510420. 4

Question Number : 6 Question Id : 6154752671 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following sequences correctly reflects scientific investigation?

(1) Conceptualization. theorizing. deduced consequences. observation and testing

(2) Testing. ohzervation. conceptualizing. theorizing and deduced conzequences

(3) Theorizing. deducing consequences, testing. cbzserving and conceptualizing

(4) Observation. conceptualization. theorizing. deduced consequences and method to

verify them
Options:
61547510421, 1
61547510422 2
61547510423 2
51547510424 4

Question Number : 6 Question Id : 6154752671 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
61547510421, 1
61547510422, 2

61547510422 3
E1547510424. 4

Question Number : 7 Question Id : 6154752672 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In a research problem ‘studyving the effect of Teaching Methods on the Scholastic
Achievement of bovs and girls in terms of their socio-economic background’. which can be
dezignated as independent variable?

(1) Scholastic achievement (2) Teaching methods
(3) Gender (4) Soclo-economic background
Options:

615475104251
E1547510426. 2
E1547510427. 3
E1547510425. 4

Question Number : 7 Question Id : 6154752672 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

515475104251
B1547510426. 2
E1547510427. 3
61547510425, 4

Question Number : 8 Question Id : 6154752673 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



When results obtained in a research study can be extended to a group larger than the
sample (outside the context of the study) 1t 1s called

(1) Internal validity (2) Functional relationship
(3) External validity (4) Hypothetical construct
Options:

615475104291
E1547510420. 2
E1547510421. 3
B154751043%2. 4

Question Number : 8 Question Id : 6154752673 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E1547510423. 1
51547510420, 2
51547510421, 3
61547510432, 4

Question Number : 9 Question Id : 6154752674 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In a thesis ‘Format and styles of referencing’ have been inappropriately followed. this 1s an
example of

(1) Technical lapse on the part of researcher

(2) Unethical practice of the researcher

(3) Inability of the researcher to write a thesis

(4) Lack of commitment on the part of researcher to write a thesis
Options:

E1547510433. 1
B1547510424. 2
51547510435 3
E1547510436. 4

Question Number : 9 Question Id : 6154752674 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



& Tl sig & Ted % Wy va S # anfad 70 § ST 16 e 21 9E O e
(1) =i = AR 4 20 AR g
(2)  SnEmEl = AFHEE HEEn #
(3) g 9F Toga g wienefi 1 semar =
(4) g 99 Tewgy | wanefi § wiadgar & 99E #
Options:
61547510433, 1
61547510434, 2

61547510435 3
61547510436, 4

Question Number : 10 Question Id : 6154752675 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A university department plans to undertake a study wherein attitudes. values and biases of
teachers and students are to be probed with an eve on disclosing their patterns of
adjustment. Which tyvpes of research methods will be considered appropriate in this context?

(1) Experimental method
(11) Case study method
(1)  Descriptive method
(1v)  Ethnographic method

() Historical method

Select the correct answer from the options given below :

(1) (1) and (11) (2) (11) and (1i1)
(3) (111) and (v) (4) (1) and (1v)
Options:

515475104371
61547510438, 2
61547510439, 3
E1547510440. 4

Question Number : 10 Question Id : 6154752675 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547510437, 1
61547510438, 2
E1547510433. 3
E1547510440. 4

Question Number : 11 Question Id : 6154752676 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Dynamics of good classroom communication imnvolves :

(a) Indifference

(h) Motivation

(c) Being organised
(d) Exclusivity

(e) Participation

(f) Gendered views

Choose the correct option from the following :

(1) (a). (b) and (c) (2) (b). (c) and (d)
(3) (b). (c) and (e) (4) (c). (e) and (D)
Options:

E1547510441. 1
E1547510442 2
61547510443 3
61547510444, 4

Question Number : 11 Question Id : 6154752676 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

515475104411
61547510442 2
61547510442 3
E1547510444, 4

Question Number : 12 Question Id : 6154752677 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Instructional communication in the distance education mode 1s

(1) unstructured (2)  self-regulatory
(3) informal (4) structured and interactive
Options:

E1547510445. 1
E154751044E. 2
51547510447, 3
51547510445, 4

Question Number : 12 Question Id : 6154752677 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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E1547510445 1



E154751044E. 2
51547510447, 3
51547510445, 4

Question Number : 13 Question Id : 6154752678 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A teacher tells his students — "When vou learn this. vou will be able to carry out vour project’.
What does this communication suggest?

(1) Continued interest (2)  Ambiguous advice
(3) Potential threat (4) Positive reinforcement
Options:

615475104459 1
61547510450, 2
E1547510451. 3
E1547510452. 4

Question Number : 13 Question Id : 6154752678 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547510449 1
61547510450, 2
E1547510451. 3
E1547510452. 4

Question Number : 14 Question Id : 6154752679 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The principles of effective writing useful for both students and teachers are

(a) Stress on hyperboles
(b) Liberal use of adjectives

(c) Clarity

(d) Conciseness
(e) Correctness
(£) Use of complex sentences

Choose the correct option from the following :

(1) (a). (b) and (c) (2) (b). (c) and (d)
(3) {c). (d) and (e) (4) (d). (e) and ()



Options:

51547510453, 1
61547510454 2
£1547510455 =2
61547510456, 4

Question Number : 14 Question Id : 6154752679 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
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Options:

E1547510453. 1
E1547510454. 2
51547510455 3
51547510456, 4

Question Number : 15 Question Id : 6154752680 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements — One is labelled as Assertion (A) and the other is labelled
as Reason (R) :

Assertion (A) : Communication does not include all human behaviour for exchange of
information
Reasons (R) : Communication involves the use of all five senses

Choose the correct option from the following :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)

() Both (A) and (R) are true but (R) 1= not the correct explanation of (A)
(3 (A) 15 true. but (R) 1= false
(4) (A) 1s false. but (R) 1s true

Options:



E1547510457. 1
61547510458, 2
51547510455, 3
615475104680, 4

Question Number : 15 Question Id : 6154752680 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547510457, 1
61547510458, 2
61547510459 =
61547510460 4

Question Number : 16 Question Id : 6154752681 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Two numbers are in the ratio 3:7. If 8 1z added to both the numbers. their ratio becomes 5:9.
The numbers are

(1) 12. 28 (2) 6.14
(3) 15, 35 (4) 24,56
Options:

61547510461, 1
61547510482, 2
E15475104E63. 3
E1547510464. 4

Question Number : 16 Question Id : 6154752681 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) 12,28 (2) 6, 14
(3) 15, 35 (4) 24, 56
Options:

61547510461, 1
61547510462, 2
61547510482, 3
E1547510464. 4

Question Number : 17 Question Id : 6154752682 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

The number X in the following series :

3.8,18,38. X, ...is

(1) 78 (2) 80
(3) 76 (4) T4
Options:

E1547510465. 1
61547510466, 2
61547510467, 3
615475104658, 4

Question Number : 17 Question Id : 6154752682 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

FeferfEd a4 X 2 -

3,8, 18, 38, X, ...

(1) 78 (2) 80

(3) 76 (4) 74
Options:

615475104651
61547510466, 2
E15475104E7. 3
E1547510465. 4

Question Number : 18 Question Id : 6154752683 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



If ' SOLUTION" 18 RSKTSHASM' then ‘"CROME’ will be written as

(1) BQ5HL (2) B5HQLH
(3) BQ5HLD (4) BS5HLH
Options:

61547510469 1
61547510470, 2
E1547510471. 3
E1547510472. 4

Question Number : 18 Question Id : 6154752683 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Iz ‘SOLUTION' % fou ‘RSKTSHAM' a1 ‘CROME’ & F=ffiga § & 9 =9 4 Tomar smom ?

(1) BQ5/HL (2) B5HQLH
(3) BQLLD (4) BS5LH
Options:

61547510469 1
61547510470, 2
E1547510471. 3
B1547510472. 4

Question Number : 19 Question Id : 6154752684 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

If 'a’ 1= inversely proportional to "b” and ‘b’ 1z inversely proportional to ‘¢, then

(1) ‘a’ 1s Inversely proportional to ‘¢ (2) ‘a1z directly proportional to ¢’
(3) ‘a’ 13 constant (4) ‘a’ 1s directly proportional to ‘be’
Options:

E1547510473. 1
B1547510474. 2
61547510475 3
E1547510476. 4

Question Number : 19 Question Id : 6154752684 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:



E1547510473. 1
61547510474 2
61547510475 3
E1547510476. 4

Question Number : 20 Question Id : 6154752685 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A sum of Rs. 2.000 yields Rs. 180 with simple interest in nine (9) months. The annual rate of
interest 1s

(1) 9% (2) 10%
(3) 11% (4) 12%
Options:

615475104771
61547510475, 2
61547510473, 3
E1547510420. 4

Question Number : 20 Question Id : 6154752685 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) Q% (2) 10%
(3) 11% (4) 12%

Options:

61547510477,
61547510478,
51547510479,
61547510480,

o IR

Question Number : 21 Question Id : 6154752686 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A fallacy in which an opponent’s position 1s depicted as being more extreme or unreasonable
than 1s justified by what was actually asserted 1s called

(1) Argumentum ad Baculum (2) The Red Herring
(3) Argumentum ad Hominem (4) Straw Man
Options:

51547510451, 1
615475104582 2
61547510452, 3
E1547510454. 4

Question Number : 21 Question Id : 6154752686 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
Uy Feara 99y gidarel = feafd =0 avaa § gieed O Al e 31 SEREETd 5 9 ° g9E T
1 °1 33 F41 FEl A1 27

(1)  3TIH=H Ug S (2) 7 Ig g
(3)  WTYH-eH Ug EHm (4) T
Options:

E1547510481. 1
E1547510482. 2
E1547510483. 3
51547510454, 4

Question Number : 22 Question Id : 6154752687 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The distinction between Savikalpaka (determinate) and Nurvikalpaka (indeterminate) is
made with respect to which of the following pramanas?

(1) Anumana (inference) (2) Pratyvaksa (perception)
(3) Arthapatti (postulation) (4) Upaména (comparison)
Options:

E1547510455. 1
E1547510486. 2
B1547510487. 3
615475104558, 4

Question Number : 22 Question Id : 6154752687 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

frafafigg 1 O g o & gay § gfasets i ffdseas 5 &9 d@ o aar 27
(1) A (2) cEd

(3) A (4) F9HH

Options:

E1547510485. 1
61547510486, 2
61547510457, 3
615475104558, 4

Question Number : 23 Question Id : 6154752688 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The term ‘Paksa’ according to classical Indian school of logic refers to which of the following
terms 1n the process of inference?

(1) Major term (2) Undefined term
(3) Minor term (4) Mhddle term
Options:

E1547510483. 1
51547510430 2
51547510431, 3
61547510432, 4

Question Number : 23 Question Id : 6154752688 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
IS I FH9TE FSE F SFTER 94 FTHE 6 U § FefatEs 1 & e 9g O meafad 27

(1)  dggd 13 (2) AT T2
(3) H (4) T YT
Options:

£154751045%9. 1
E1547510430 2
E1547510431. 3
51547510452, 4

Question Number : 24 Question Id : 6154752689 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following refers to an attribute of everv categorical proposition which 1s
determined by whether the proposition affirms or denies class inclusion?

(1) Quality (2) Quantity
(3) Distribution (4) Comparison
Options:

615475104321
61547510434, 2
E1547510435. 3
E1547510436. 4

Question Number : 24 Question Id : 6154752689 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
HeTiEd ¥ ¥ :H-T1 [@%ed To9% A 9arsd ) [Gemeal O Jdidd 2 9 29 od J [4iia 2an 2
o TehaTe 7 OHESH F1 R FAT § A9E R AT 27
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Options:

61547510493, 1
61547510494 2
£1547510495 =2
61547510496, 4

Question Number : 25 Question Id : 6154752690 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The product of any three consecutive integers is divisible by 6. Therefore, 3 x 4 x 5 (=60), is
divisible by 6? Which type of reasoning is embodied here?

(1) Deductive Reasoning (2) Inductive Reasoning
(3) Non-verbal Reasoning (4) Abductive Reasoning
Options:

61547510437, 1
61547510435, 2
E1547510433. 3
E1547510500. 4

Question Number : 25 Question Id : 6154752690 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
ot 1 STAR Ul T 1 ESA 6 g 9T 2| 314 3 x 4 x 5 (=60). 6 gN1 99 #| O fFH

(1) AT T [y iz = ok
(3)  ETa® a= (4)  AITEAHF 95
Options:

615475104571
615475104358, 2
61547510439, 3
61547510500, 4

Sub-Section Number: 2
Sub-Section 1d: 615475120
Question Shuffling Allowed : Yes

Question Id : 6154752691 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)
Cuesticon Label | Comprehension



Directions Q. 26-30 : The following table gives the percentage (%) of people having
knowledge of different programming lansuages. Assuming that the total number of people
having knowledge about programming language 1z 12.00.000. answer the gquestions that
follow the table :

Programming Language | % of People having knowledge
e s 15%
C 25%
COBOL 12%
FORTRAN 15%
Java 15%
LISP 10%
Pyvthon 10%

Sub questions

Question Number : 26 Question Id : 6154752692 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The ratio of the number of people having knowledge about C to that of knowledge about
Java 1s

(1) d=h £y 5:3
(3) 1:1 (4 5H5:92
Options:

E1547510501. 1
61547510502, 2
61547510503, 3
61547510504, 4

Question Number : 27 Question Id : 6154752693 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

How many people have knowledge about C language?

(1) 1.80.000 (2) 3.00.000
(3) 1.56.000 (4) 1.44.000
Options:

E1547510505. 1
61547510506, 2
61547510507, 3
61547510508, 4

Question Number : 28 Question Id : 6154752694 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The total number of people having knowledge about C. Java and COBOL 1s

(1) 4.80.000 (2) 5.04.000
(3) 5.16.000 (4) 6.24.000
Options:

E1547510509. 1
61547510510, 2
61547510511, 2
E154751051Z2. 4

Question Number : 29 Question Id : 6154752695 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What 15 the average percentage (%) of people having knowledge of programming language —
Python. LISP and Java?

(1) 1.04% 2y 11.7%
(3) 26.6% (4) 11.0%
Options:

615475105121
E1547510514. 2
E1547510515. 3
51547510516, 4

Question Number : 30 Question Id : 6154752696 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Difference in the number of people having knowledge of C and COBOL programming
languages 1s

(1) 1.20.000 (2) 1.80,000
(3) 1.44.000 (4) 1.56.000
Options:

E1547510517.1
51547510518, 2
61547510515, 3
61547510520, 4

Question Id : 6154752691 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)
Cuestion Label @ Comprehension



2w (999: 26 ¥ 30) : Fofaigd difesn § Aty gmnigy =vas 99 9o SARA1 51 9ideddr 91 T 2
Atz o T S 5 S Sae 99a 9 SEa B FE 9= 12,00,000 2, G A1 WOSATEIE
Fafaiad 9941 =1 391 29y :

T Ao Jeqea-£f ST TE

TTel SATRAT =l W]
C++ 15%
C 25%
FIETA 12%
TEH 13%
iG] 15%
A AR UH b 10%
qr2Et 10%

Sub questions

Question Number : 26 Question Id : 6154752692 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1) 3:5 (Z2) b5:3
(3) gl (4 b5:2
Options:

51547510501, 1
61547510502, 2
61547510503, 3
E1547510504. 4

Question Number : 27 Question Id : 6154752693 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1) 1.80.000 (2) 3.00.000
(3) 1.56.000 (4) 1.44.000
Options:

E1547510505. 1
61547510506, 2
61547510507, 3
61547510508, 4

Question Number : 28 Question Id : 6154752694 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

C. 9T 31 FE o de A dTe] SRl il Fd T 1

(1) 4.80.000 (2) 5.04.000
(3) 2.16.000 (4) 6.24.000
Options:

E1547510509. 1
61547510510, 2
61547510511, 3
E154751051Z2. 4

Question Number : 29 Question Id : 6154752695 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T2, U 312 U 17 37 = ST Svd i FEEET W@ 9 d S S 0d 9iqeddr A 27
(1) 1.04% () 11.7%

(3) 26.6% (4) 11.0%

Options:

615475105121
E1547510514. 2
E1547510515. 3
51547510516, 4

Question Number : 30 Question Id : 6154752696 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(1) 1.20.000 (2) 1.80.000
(3) 1.44.000 (4) 1.56.000
Options:

E1547510517.1
51547510518, 2
61547510515, 3
61547510520, 4

Sub-Section Number: 3
Sub-Section 1d: 615475121
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 6154752697 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Consider the following storage devices :

(a) Hard disc
(h) CD-ROM
(c) DVD-ROM

Arrange these in ascending order of storage capacity and select the correct option :

(1) (b). (). (a)
(2) (b). (a). (c)
(3) (c). (b). (a)
(4) {(a). (c). (b)

Options:

51547510521, 1
61547510522 2
61547510523 2
61547510524 4

Question Number : 31 Question Id : 6154752697 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fFeferfag ey feasd w T=9r fifw
(a) B feF
by HSum

(c) 29T 2 1A

3= OUET gudl & SARE FA °§ srafyd e ok ud et FHu

(1) (). (0. (@
(2 (). (). (@
3 (o) (b). (a)
4)  (a).(c), (b)

Options:

615475105211
61547510522, 2
61547510522, 5
61547510524 4

Question Number : 32 Question Id : 6154752698 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of the following 1s a ‘Decision Support System’ for assisting people 1n taking best

decizions for their childern’s future?

(1) E-Pathshala

(2) Saransh

(3) Shaala Sidhdhi

(4) SWAYAM PRABHA

Options:

615475105251
61547510526, 2
61547510527, 5
61547510528 4

Question Number : 32 Question Id : 6154752698 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

fafefigd @ T +9 o1 =70 SR 999 9= & 99 & e ghgs v o1 O geEa 1 aer e

o 9 27
(1) é—‘l Saled

(2) s

s

(3) AT THIG

(4) T

Options:

61547510525, 1
61547510526 2
61547510527, 2
61547510528 4

Question Number : 33 Question Id : 6154752699 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following is NOT suitable in the context of E-mail?

(1) It is a letter sent over a computer network
(2) It can be used to send unsolicited messages
(3) E-mail is snail-mail

(4) E-mail address includes domain name

Options:
61547510529, 1



E1547510530. 2
61547510521, 3
61547510532, 4

Question Number : 33 Question Id : 6154752699 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Teigd § d i |1 3-Hel o Hed § 390 ¢ 7

(3)

(4)

Options:

7 FJE H2as WIS T UE 0 2
TE FAT=d HAWl I 9 WO 2 Ol 8
-1t gor 7T 9T e 2

211 7q T S T 9 BT 2

5154751052591
61547510520, 2
61547510531, 3
E1547510532. 4

Question Number : 34 Question Id : 6154752700 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List I with List IT :

(a)

(b)

(c)

(d)

List I
(E-1nitiatives)
Vidwan
Digilocker
Sakshat

Shodh Ganga

(1)

(11)

(111)

(1v)

Last IT
(Descriptions)

Repository for full-text thesis. e-books
and journals

Education portal to facilitate learning

Databasze of

rezearchers

leading  scientists/

Platform for issuance and verification

of documents and certificates

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

Options:

(a)-(1). (b)-(11). (c)-(1v). (d)-(11)
(a)-(111). (b)-(1v). (c)-(11). (d)-(2)
(a)-(1v). (b)-(11). (c)-(1). (d)-(111)
(a)-(11). (b)-(1). (e)-(11). (d)-(1v)

E1547510533. 1



E1547510534. 2
61547510535, 3
61547510536, 4

Question Number : 34 Question Id : 6154752700 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

-1 %1 GEi-11 = 319 AT Hig
T=i-1
(3-afvrzFm)
(a) r'a- gl
by TEEdE=
(c)  HIEE
(d) IIg T
= 20 0 foeT 3 4 O8 S 90

(1) (a)-(1). (b)-(111). (¢)-(v). (d)-(11)
(2) (a)-(111). (b)-(1w), (¢)-(11). (d)-(1)
(3) (a)-(1v). (b)-(11). (c)-(1). (d)-(111)
(4) (a)-(11). (b)-(1). (c)-(111). (d)-(1v)

Options:

15475105832 1
61547510524, 2
61547510525
61547510536 4

(1)

{11)

I

(feramo)
q0 o WY e, -g99 AT SHed W
BEL

(ii1) S SR /T T SEeE

{(1v)

Question Number : 35 Question Id : 6154752701 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

In computer related activities. what 1s the full form of " WORM'?

(1) Write On Random Memory
(2) Write On Real Memory
(3) Write Once Read Many

(4) Write Once Read Memory

Options:
615475105571



E1547510538. 2
61547510535, 3
51547510540, 4

Question Number : 35 Question Id : 6154752701 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

FOAZ TA(9d FHEFAT § Soolg 31 30 TF° F1 99 =9 27

(1) 22 19 =0 o

(2)  TE2 AF =34 ggE]
(3) =2 g g uHdi

(4) 22 79 T OO

Options:

61547510537, 1
61547510528 2
1547510529 2
61547510540 4

Question Number : 36 Question Id : 6154752702 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The Government of India has set up the Ministry of Jal Shakti by merging/renaming which

of the following :

(1) Ministry of Water Resources and Ministry of Earth Sciences

(2) Ministry of Water Resources: Ministry of River Development and Ganga

Rejuvenation: and Minmistry of Rural Development

(3) Ministry of Water Resources: Ministry of River Development and Ganga

Rejuvenation: and Ministry of Drinking Water and Sanitation
(4) Ministry of Water Resources

Options:

51547510541, 1
61547510542 2
61547510543 =
1547510544 4

Question Number : 36 Question Id : 6154752702 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(4) I TETEE B

Options:
615475105411

E1547510542. 2
E1547510543. 3
51547510544, 4

Question Number : 37 Question Id : 6154752703 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Identify environmental 1ssues which are local 1n nature :

(11  Depletion of ozone layer
(1) Lake pollution

(111) Soil erosion

(1v) Clhimate change

(v) Water logging

(vi) Solid Waste Management

Select the answer from the options given below :

(1) (11). (11). (v) and (v1) (2)  (m1). (1v). (v) and (v1)
(3) (11). (111), (1v) and (v) (4) (1). (11). (1) and (1v)
Options:

E1547510545. 1
E154751054E. 2
61547510547, 3
615475105458, 4

Question Number : 37 Question Id : 6154752703 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



frefafga § 4 31 w=iawiE g2 it ve9m Fifae 91 =T 55a % 2

2.

(1) AT T T &0
(11) e TgHv

i) gEw

(iv)  Foar Jiadd
(v) AR

(vi) B 398 Ja9H

I 72U T g 0 0 OE 39 9 999 S

(1) (ii). (iii). (v) 37T (v1) (2) (i), (v). (v) 3T (v1)
(3) (ii). (ii1). (iv) 3T (v) (4)  (1). (11). (ii1) 377 (iv)
Options:

515475105451
61547510546, 2
61547510547, 3
615475105458, 4

Question Number : 38 Question Id : 6154752704 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following UN Conferences/Summit adopted the programme of Action for
Sustainable Development?

(1) Stocltholm Conference (2)  Rio de Janeire Conference
(3) Johannesburg Summit (4) Ahmedabad Conference
Options:

E1547510545. 1
61547510550, 2
61547510551, 2
E154751055%2. 4

Question Number : 38 Question Id : 6154752704 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
frafafas o O fFm oo Ty Auieq /gt 90§ auofig fasm OiFE wrEn (9 3 TEE wH
T2 ae SaeTHz ) 1 ATTE T 7

(1) =M F5 (2) e fz Sfeh =
(3)  FEge gmg (4) ITEHITETE F5E
Options:

61547510549, 1
E1547510550. 2
51547510551, 3



E1547510552. 4

Question Number : 39 Question Id : 6154752705 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following indicates the objective of the United Nations Framework Convention
on Climate Change (UNFCCC)?

(1) To stabilize greenhouse gases concentration in the atmosphere

(2) To prescribe limits on greenhouse gas emizsions for individual countres

(3) To lay down enforcement mechanisms

(4) To prepare guidelines for formulation of Climate Action Plan by member countries
Options:

E1547510553. 1
51547510554, 2
61547510555, 3
61547510556, 4

Question Number : 39 Question Id : 6154752705 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
g § § FH-51 9% T909 Foard Tadq e 99 (3 U9 O O @ ) F 359 1 i
27

(1)  @FAsa § 09 2138 761 % T550 &1 R

(2) Tl TE @9 E UE 2 1Y 3eE W O [ w7

(3)  WAGA 9F TIHE HAT

(4) TSI IE0 gRT SEa FEAENAT AR i s aan e

Options:

61547510553, 1
61547510554 2
61547510555 =
61547510556 4

Question Number : 40 Question Id : 6154752706 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

For encouraging worldwide awareness and action for the protection of our environment.
UNEP focused on the World Environment Dav (2019) on which of the following themes?

(1) Conserve energy (2) Tackle cimate change
(3) Beat air pollution (4) Save water
Options:

51547510557, 1
61547510558, 2
61547510559, 3
E1547510560. 4



Question Number : 40 Question Id : 6154752706 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AN, AT F HA0 7d TavasaTdt AEshar 3 FaETE F WicHned #49 gd J U 2 0 A § 3
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(3) A WgHW #I THA™ (4) ¥ =

Options:

E1547510557. 1
61547510558, 2
61547510559, 3
E1547510560. 4

Question Number : 41 Question Id : 6154752707 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The Ancient Indian University known as the chief centre for advanced and specialized
studies 1n Nvava or Logic was

(1) Jagaddala University (2) Mithila University
(3) Nadia University (4) Valabhi University
Options:

E1547510561. 1
61547510562, 2
61547510563, 3
61547510564, 4

Question Number : 41 Question Id : 6154752707 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
fafafga § 4 fFa w=in g fvafaes =1 3 o oF e 8 3= 3 Tl ol 5 g #3
% T9 H A1 A1 8 7

(1) Tee favaia==g (2) Tafren fEvata=
(3)  Ariean favateEa (4) Tz favafarem
Options:

E1547510561. 1
61547510562, 2
E1547510563. 3
61547510564, 4

Question Number : 42 Question Id : 6154752708 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which 1tems 1n the following constitute the non-conventional learning programmes?

(1)  Tea sommelier

(1) Oriental languages
(1) Spa management
(1v) Museology

(v) Comparative languages

Select the correct answer from the options given below :

(1) (1). (11) and (1v) (2} (11). (111) and (v)
(3) (1), (111) and (1v) (4) (11). (1v) and (v)
Options:

51547510565, 1
61547510566, 2
E1547510567. 3
61547510568, 4

Question Number : 42 Question Id : 6154752708 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
HefcIfigd § 4 #H U 98 T-TR9 A FEERl F g2 a7
(i) @1 gmfer
(11) =4 919
(iii) 797 JEEH
(1v) AUed-fagH
(v)  JoHTHF 9

FATeEd el § 8 A7 39 3

(1) (1), (i) 37 (v (2) (1), (ii1) 3 (v)
(3) (1). (ii1) 37 (iv) (4)  (i1). (iv) 3 ()
Options:

61547510565, 1
61547510566, 2
E1547510567. 3
E15475105658. 4

Question Number : 43 Question Id : 6154752709 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which one of the following is a non-statutory body?

(1) National Council for Teacher Education (NCTE)
(2) Bar Council of India (BCI)
(3) Rehabilitation Council of India (RCI)
(4) National Assessment and Accreditation Council (NAAC)
Options:
1547510569 1
1547510570 2
E1E47510571. 2
1547510572 4

Question Number : 43 Question Id : 6154752709 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Frerfetfiaa & & # wh T—siff Fem 2 7

(1)  TYMA A a0 91w (T H# A 2)

(2)  ORAE e TiwE (3 O o)

(3)  9RAME A TEg (AR H )

(4) T AT I 31T I g (v U U )
Options:
61547510569 1
61547510570, 2

61547510571, 3
61547510572, 4

Question Number : 44 Question Id : 6154752710 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following has been the basis for introduction of yvoga 1n teacher training
courses’

(1) National Policy of Education — 1968
(2) National Policy on Education — 1986

(3) Vision of Teacher Education in India : Quality and Regulatory Perspective — 2012
(4) Draft National Education Pohicy — 2019

Options:

61547510573, 1

61547510574 2

61547510575 2

1547510576 4

Question Number : 44 Question Id : 6154752710 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



AT T8 ST B A F WA F H efaiad § 7 F9 w sen 27
(1) g e fifd-1963
(2)  TE e Aifd-1986
(3) W4 4 ATHF fwa F 9iasa 3fe, e dR A aise-2012
(4) WU fore fifa-2019 =1 ey
Options:
61547510573, 1
1547510574 2

E1547510575. 3
B1547510576. 4

Question Number : 45 Question Id : 6154752711 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Identify the ‘NITI Aayog — Three Year Action Agenda Items’ related to the field of Higher
Education :

(1)  Autonomy for top colleges

(i) Reform of the regulatory system

(ii1) Establishing a system of project and scholar-specific research grants
(iv) Promotion of research culture

(v) National Research Foundation

Select correct answer from the options given below :

(1) (1). (i1) and (ii1) (2) (1), (11) and (1v)
(3) (111), (iv) and (v) (4) (iv), (1) and (i1)
Options:

E1547510577. 1
E1547510578. 2
61547510575, 3
61547510580, 4

Question Number : 45 Question Id : 6154752711 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(i)  TafEmEE 93 ° gan
(i) FHEATSAT 377 e higd g SHEE # TEid T
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(v)  TEE T qidsE
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(1) (1), (i1) 37T (1ii) (2) (i), (ii1) 3R (iv)
(3) (ii1). (iv) 3T (v) (4) (1), (1) 371 (i)
Options:

61547510577, 1
E1547510578. 2
61547510573, 3
E1547510580. 4

Sub-Section Number: 4
Sub-Section Id: 615475122
Question Shuffling Allowed : Yes

Question Id : 6154752712 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Cesticn Label | Comprehension

For gquestions (46-50) :

Read the passage carefully and answer questions that follow :

Political ‘representation’ nonetheless is the vehicle that enabled the re-introduction of
“demoecracy’ into the modern, practical political vernacular. The resulting liberal democracy
does not directly descend from the ancient Athenian democracy. Between the eras virtually
nothing existed that approached “democracy” as an actual or named political form and when
it again became a focus of polities and theory, it was wedded to representation — so that what
we call a democracy is, infact, a distinctive kind of democracy, “a representative democracy
While elections and popular pressure surely have political impact, the actions of
representatives are the primary, official mechanism for translating demoecratic citizenship
into political power. We rely on the representative process to promote political goodness in
democratic societv. But when one imagines the idea of representation these davs. its
association with ethics or goodness does not spring to mind. It is an impersonal process, after
all — a mechanical method by which one entity stands for or re-presents another, politically
required by the need to channel the judgements of millions of citizens into the legally
authoritative hands of a small number of public representatives. or even the sentiments of
thousands into the leadership of single person.

Sub questions

Question Number : 46 Question Id : 6154752713 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following implies the characteristic of modern political vernacular?

(1) Populist politics (2)  Absence of structure
(3) Ethical dizcourse (4) Representiveness
Options:

E1547510581. 1
B1547510582. 2
61547510583, 3
61547510584, 4

Question Number : 47 Question Id : 6154752714 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The political representation enabled the emergence of

(1) Athenian democracy (2) Liberal democracy
(3) Actual democracy (4) Theoretical democracy
Options:

51547510585, 1
61547510586, 2
61547510587, 3
E15475105858. 4

Question Number : 48 Question Id : 6154752715 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
According to the passage actions of political representatives mamfest

(1) Political will (2) Popular pressure
(3) Political power (4) Self-effacing behaviour
Options:

61547510589, 1
61547510530, 2
E1547510531. 3
E1547510532. 4

Question Number : 49 Question Id : 6154752716 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

According to the author. the 1dea of democracy 1s viewed as

(1) Ethical politics (2) Goodness of representation
(3) A representative process (4) Channelising views of a few people
Options:

E1547510583. 1
E15475105394. 2
515475105395, 3
51547510536, 4



Question Number : 50 Question Id : 6154752717 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What 1s the perception of the author with regard to representational democracy?

(1) Legal as well as ethical

(2) Universal participation

(3) Arbitrarily authoritative

(4) Centralization of power 1n a few individuals
Options:

615475105971

£1547510595. 2

61547510599 2

1547510800, 4

Question Id : 6154752712 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Cuestion Latbel COI‘I‘lpI"EhEI‘lSiOH

T : 46 H 50
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Sub questions

Question Number : 46 Question Id : 6154752713 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(1)  AraaEd T (2) T F A9E
(3)  ifama fams (4) FfaHTEHARAT
Options:

61547510581, 1
61547510582, 2
61547510582, 3
E1547510584. 4



Question Number : 47 Question Id : 6154752714 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

T=HiTa% SlaHTEa F R0 R 0 O =60 1 329 23717

(1)  TH &+ AHaa (2) 32N AHaa
(3) AV TaE ATFAE (4) Tgifa® AFad
Options:

61547510585, 1
E1547510586. 2
E1547510587. 3
61547510588, 4

Question Number : 48 Question Id : 6154752715 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(1) TSHiTd® T=aEs (2) TEEHE T ==
(3) TSI wE (4) AH-Ta=ITH =deEn
Options:

E1547510589. 1
51547510530, 2
61547510531, 3
61547510532, 4

Question Number : 49 Question Id : 6154752716 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
%  ITER Add F a9 F1 fF =9 1 JEr 9 22

(1) Fifq e T (2) wldHTaE $i s=ar
(3)  lafeens qiE (4) F@ AM % [GER] I G990 Y5 FAT
Options:

615475105392, 1
E1547510534. 2
E15475105385. 3
515475105356, 4

Question Number : 50 Question Id : 6154752717 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



yfafege® AFad % Oad § o F1 F7 fo=m 27
(1) Tafa 21 3=
(2)  TET qrfieE
(3)  HAHMEI TATHA
(4) P ACFEA F @A T F FE
Options:
61547510597, 1
61547510598, 2

6154751053949, 3
61547510600, 4

FART 11 Buddhist Jaina Gandhian and Peace Studies

Section Id : 61547538

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 92

Number of Questionsto be attempted: 92

Section Marks: 200

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section I1d: 615475123
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 6154752718 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The Fourth Buddhist Council compiled the encyelopedia of Buddhist Philosophy called

(1) Sutralankara (2) Mahawibhasa
(3) Mahavyutpatti (4) Madhyvamaka Sutra
Options:

E1547510601. 1
61547510802, 2
61547510603, 3
61547510604, 4

Question Number : 51 Question Id : 6154752718 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  TIEFR (2) TErET
(3) B (4) TEEE A
Options:

51547510601, 1
61547510802, 2
61547510603, 3
61547510604, 4

Question Number : 52 Question Id : 6154752719 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Identify the author who wrote A?:i_:hasﬁlini_. a commentary on the Dhammasangini .

(1) Buddhadatta (2) Dhammapala
(3) Buddhadeva (4) DBuddhaghosa
Options:

£1547510605. 1
E154751080E6, 2
E1547510807. 3
51547510808, 4

Question Number : 52 Question Id : 6154752719 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(1) qgad (2) 9HITA
{3} _EE_,H:.'; H*."] {4} _q;d '-_‘|ﬁ 9
Options:

61547510605, 1
E1547510606. 2
61547510607, 3
E1547510808. 4

Question Number : 53 Question Id : 6154752720 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



King Kaniska has consulted a monk to know the true doctrine of Buddhism.

Identify the monk.

(1) Parsva (2) Vasumitra
(3) Yagomitra (4) Ghosaka
Options:

51547510609, 1
61547510810, 2
61547510611, 2
E154751061Z2. 4

Question Number : 53 Question Id : 6154752720 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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r -

1 (2) =Ef
(3) TS (4) T
Options:

£154751060%9. 1
E1547510610. 2
1547510611, 3
B1547510612. 4

Question Number : 54 Question Id : 6154752721 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

According to Srilankan Chronicles. how many councils were held at Cevlon?

(1) 9 (2) 4
i3 3 (4) 6
Options:

615475106121
61547510614, 2
E1547510615. 3
E1547510616. 4

Question Number : 54 Question Id : 6154752721 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) 9 (2) 4
(3) 3 (4 6
Options:

615475106131
61547510614, 2
E1547510615. 3
E1547510616. 4

Question Number : 55 Question Id : 6154752722 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The Shinkot casket inscription 1s written in which seript?

(1) Kharosthi (2) Aramaic
(3) Brahmi (4) Gandhari
Options:

E1547510617. 1
E15475106158. 2
615475106815, 3
E1547510620. 4

Question Number : 55 Question Id : 6154752722 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

To iz Thhe oy /Toa Ty o T = 27

(1) st (2) ST
(3)  wEAI (4) mHE
Options:

61547510617, 1
E15475106158. 2
E1547510613. 3
B1547510820. 4

Question Number : 56 Question Id : 6154752723 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



What was the age of Mahamaya at the time of the birth of Siddhartha?

(1) 29 (2) 35
(3) 40 (4) 45
Options:

615475106821, 1
E1547510622. 2
E1547510623. 3
E1547510624. 4

Question Number : 56 Question Id : 6154752723 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fagrd % 579 % ST TR Fi aTg 9 Rt

(1) 29 (2) 35
(3) 40 (4) 4b
Options:

E1547510621. 1
B1547510822. 2
B1547510823. 3
E1547510624. 4

Question Number : 57 Question Id : 6154752724 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Identify the country where Mahasami Sangharaja has played an important role in firm

footing of Buddhism.

(1) Ceylon (Srilanka) (2) Siam (Thailand)
(3) Kamboja (Cambodia) (4) Suvarr_labhﬁmi (Burma/Myanmar)
Options:

615475106825 1
G15475106826. 2
E1547510627. 3
E1547510625. 4

Question Number : 57 Question Id : 6154752724 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  foem (dfee) ) Tom (ursds)
(3) === (FEEiea) (4) Fauygh (=91 /=mER)
Options:

E15475106825. 1
B1547510626. 2
B1547510827. 3
61547510625, 4

Question Number : 58 Question Id : 6154752725 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Identify the thinker contemporary of the Buddha whose philosophy was known as
Annihilationism or Materialism.

(1) Purana Kassapa (2) Makkhalh Ghosala
(3) Ajita Kedakambah (4) Pakudha Kaccayana
Options:

E15475106823. 1
E15475106230. 2
615475106821, 3
E154751063%2. 4

Question Number : 58 Question Id : 6154752725 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

g & TAHFCH T=EE i UE=E i Taus 2vH Fi Afoae g Sifawars 21 Jm1 2|

)

(1) o (2) wFE grETE
(3) AT e (4) TFTF=EEAE
Options:

61547510629, 1
E1547510620. 2
E1547510621. 3
B15475106832. 4

Question Number : 59 Question Id : 6154752726 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



According to the Theory of Dependent Origination. the term ‘contact’ (sparsa) gives birth to

(1) Craving (Trisna) (2) Feeling (Vedana)
(3) Becoming (Bhava) (4) Six sensze organs (Sadayatana)
Options:

61547510633, 1
E1547510634. 2
E1547510635. 3
E1547510636. 4

Question Number : 59 Question Id : 6154752726 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

1 o (2) =&
(3) 14 (4) 9=ETA
Options:

61547510633, 1
61547510634, 2
61547510635, 3
E154751063E6. 4

Question Number : 60 Question Id : 6154752727 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Identify the Buddhist University established by Senapati Bhattaraka .

(1) Nalanda (2) Vikramasila
(3) Somapuri (4) Vallabhi
Options:

B1547510637. 1
615475106838, 2
61547510639, 3
E1547510640. 4

Question Number : 60 Question Id : 6154752727 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(3) =TI (4) FEws
Options:

E1547510637. 1
E1547510635. 2
BE15475106839. 3
51547510640, 4

Question Number : 61 Question Id : 6154752728 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Bhiumisparsa mudra in Buddhist Art symbolizes which event of the life of the Buddha?

(1) Mahabhinigskramana (2) Nibbana
(3) Mahaparimibbana (4) Dhammacakkapavattana
Options:

E1547510641. 1
B1547510642 2
61547510643, 3
61547510644, 4

Question Number : 61 Question Id : 6154752728 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) qEar-rerego @) T
(3) GARINEE (4) T=TFFETETA
Options:

E1547510641. 1
E1547510642 2
61547510643, 3
61547510644, 4

Question Number : 62 Question Id : 6154752729 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The Buddhist relics discovered at Taxila, Nagarajunikonda and Mirpur-Khas in Sindh were

enshrined at

(1) Mulagandha Kuﬁ (2) Dhammekha Stupa
(3) Asoka stUpa (4) Saddharmacakra-pravartana vihara
Options:

61547510645, 1
6154751064E. 2
E1547510647. 3
E1547510645. 4

Question Number : 62 Question Id : 6154752729 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  TerraE (2) a¥E =
(3) T =W (4) FHH=E-TI0 HER
Options:

E1547510645. 1
B154751064E. 2
61547510647, 3
615475106458, 4

Question Number : 63 Question Id : 6154752730 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Identify the vear. in which Baudha Dharmankur Sabha was founded by Mahasthavira

krpasarana

(1) 1972 (2) 1892
(3) 1891 {4) 1908
Options:

61547510649 1
61547510650, 2
E1547510651. 3
E1547510652. 4

Question Number : 63 Question Id : 6154752730 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



(1) 1972 (2) 1892
(3) 18391 (4) 1908
Options:

61547510645 1
61547510650, 2
61547510651, 3
E1547510652. 4

Question Number : 64 Question Id : 6154752731 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
According to the Nilinda- panha. King Menander was born at

(1) Kandhara (2) Sagala
(3) Sialkot (4) Shinkot
Options:

E1547510653. 1
E1547510654. 2
51547510655, 3
61547510856, 4

Question Number : 64 Question Id : 6154752731 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
a6 * ER U= Wi Fal 951 59 ol

(1) =FER (2) T
(3) HwEEE (4) TorTRiE
Options:

E1547510653. 1
E1547510654. 2
61547510855, 3
61547510656, 4

Question Number : 65 Question Id : 6154752732 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The other name of Yﬁpanz}'a Sangha 1s

(1) Gopya Sangha (2) Kastha Sangha
(3) Kurcaka Sangha (4) Mathura Sangha
Options:

E1547510657. 1
E1547510658. 2
B15475106859. 3
61547510860, 4

Question Number : 65 Question Id : 6154752732 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(3)  F® A (4) ™Y =G
Options:

E15475106857. 1
61547510858, 2
61547510659, 3
E1547510660. 4

Question Number : 66 Question Id : 6154752733 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Identify the incorrectly matched pair

(1) Mahavira —  Vaiéali

() Rsabhanatha — S ravasti

(3) Neminatha —  Dvarka

(4) Parsvanatha —  Varanasi
Options:

61547510661, 1
E154751066Z2. 2
61547510662, 3
E1547510664, 4

Question Number : 66 Question Id : 6154752733 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Al 27 d gAferd 9 74 Al 379 il 9EeE Fifae

(1) TETEN — =

(2) ATy — o

(3) Ay — I

(4)  UTEAY — amE
Options:

E15475106E1. 1
E1547510862. 2
B1547510863. 3
61547510664, 4

Question Number : 67 Question Id : 6154752734 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Lard Mahavira got enhghtenment on

(1) Caitrakrsna caturthi (2) Pausa Krsna Ekadasi
(3 Caitra Sukla Daéami (4) Vaisakha Sukla Dasami
Options:

61547510665, 1
E154751066E. 2
E15475108E7Y. 3
E1547510665. 4

Question Number : 67 Question Id : 6154752734 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(1) == Fo Sge (2) g o T
(3) = A Eo (4) dvma T
Options:

61547510665, 1
61547510666, 2
E15475108E7Y. 3
E1547510668. 4

Question Number : 68 Question Id : 6154752735 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In Jainism. gradually to be free from accumulated action (Karma) 1s known by the term

(1) Nirjara (2) Samvara
(3) Asrava (4) Bandha
Options:

E1547510663. 1
E1547510870. 2
B15475106871. 3
G1547510672. 4

Question Number : 68 Question Id : 6154752735 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

S g9 § ‘Hiad %9 ® HaH =9 O giFa H 58 92 & 0 F T4 9060E

(1) = (2) ==
(3)  wEd (4) =4
Options:

615475106865, 1
B1547510870. 2
1547510671, 3
E1547510672. 4

Question Number : 69 Question Id : 6154752736 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Awvirati and Yoga are the causes of

(1) Moksa (2) Nimara
(3) Samvara (4) Asrava
Options:

BE1547510673. 1
615475106874, 2
E1547510675. 3
E154751067E. 4

Question Number : 69 Question Id : 6154752736 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



afeefa aite i o # -

(1) =& (2) fsm
(3) T (4) ="
Options:

E1547510673. 1
E1547510674. 2
BE1547510675. 3
B1547510687E6. 4

Question Number : 70 Question Id : 6154752737 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The correct path of obtaining salvation 1s

(1) The Combination of Ratnatrava (2) The Preservation of Karma
(3) The Right Vision (4) The Right Knowledge
Options:

B15475106877. 1
E1547510675. 2
61547510673, 3
E1547510650. 4

Question Number : 70 Question Id : 6154752737 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

i -Ted =1 T559% 97 & -

(1) 7o =1 =gy (2) =9 = =
8) TR (4) == A
Options:

B1547510677. 1
B15475106878. 2
E1547510673. 3
61547510650, 4

Question Number : 71 Question Id : 6154752738 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Choose the right combination of érutajﬁﬁna

(1) Avagraha, Tha . Avaya, Dharana (2) Anga-Pravista. Anga - Bahya

(3) Arthavagraha. Vyafjanavagraha (4) Bhavapratyaya — Gunapratyaya

Options:

61547510681, 1
61547510682 2
61547510882 2
61547510654, 4

Question Number : 71 Question Id : 6154752738 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

SR % TEEE WA R A

(1) TR, SEI, a7, °E (2) =1 - Ui, ¥ - §EA
(3) FATTTE, AT (4) 9ITE - TTEE
Options:

E1547510681. 1
B1547510882. 2
E1547510683. 3
E1547510654. 4

Question Number : 72 Question Id : 6154752739 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Anekantavada in Jainism i1s known as

(1) Establishment of the ethical thoughts (2) Multidimensional thought of matter

(3) Absolutism (4) Non-Possessiveness

Options:
61547510855, 1

E1547510686. 2
B1547510887. 3
515475106888, 4

Question Number : 72 Question Id : 6154752739 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



31 99 T IHFHEaE i FJE ST

(1) 3 i wm (2) o= F AT =
(3) THIUERE (4) UiE
Options:

515475106885, 1
E1547510686. 2
E1547510687. 3
E1547510655. 4

Question Number : 73 Question Id : 6154752740 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

According to Jain tradition, there are four kinds of charity which are related to

(1) Meditation (2) Self realization
(3) Social service (4) Mahavratas
Options:

E1547510689. 1
E1547510830. 2
5154751068391, 3
615475106832, 4

Question Number : 73 Question Id : 6154752740 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

(1) =4 (2) AT
(3) =TS Il (4) wEEd
Options:

E1547510659. 1
61547510630, 2
E1547510831. 3
B154751068392. 4

Question Number : 74 Question Id : 6154752741 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



The word ‘Dana’ 1s related to this principle of Jainism

(1) Renounciation (2) Non-Possessiveness
(3) Three Jwells (4) Non-Violence
Options:

E154751068393. 1
E1547510834. 2
61547510835, 3
61547510636, 4

Question Number : 74 Question Id : 6154752741 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

‘T’ vz 9 ad % 39 faga 4 HEta #

(1) IR (2) IIE
(3) T (4) A=A
Options:

515475106853, 1
61547510634, 2
E1547510635. 3
E154751083E6. 4

Question Number : 75 Question Id : 6154752742 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Vegetarianism is closely related to which principle of Jainism?

(1) Anekantavada (2) Kala substance
(3) Supper knowledge (4) Non-violence
Options:

615475106857, 1
615475106358, 2
61547510639, 3
61547510700, 4

Question Number : 75 Question Id : 6154752742 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



AR W 99 % o fagm =+ wattas e 2 7

(1)  FHmaE (2 F= 3=
3  Faa IH (4) wrEET
Options:

615475106857, 1
615475106358, 2
61547510639, 3
E1547510700. 4

Question Number : 76 Question Id : 6154752743 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The Valabhi vacana was conducted -

(1) 100 yrs after salvation of Lord Mahavira
(2) 700 yrs after salvation of Lord Mahavira
(3) 800 vrs after salvation of Lord Mah&avira

(4) 1000 yrs after salvation of Lord Mahavira
Options:
615475107011
61547510702 2
61547510703 2
1547510704 4

Question Number : 76 Question Id : 6154752743 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
TeeTH] AFEAT T AT TR T AT -

(1)  WEW 9eER + F15-91e % 100 99 % =15
(2)  WEH WEER % 9E-TE % 700 99 F 95
(3) AN HEER # mE-mie F 800 7Y % @G

(4)  PTEH gEER F qiE-T1E % 1000 99 F 9
Options:
615475107011
61547510702 2
61547510703, 2
61547510704, 4



Question Number : 77 Question Id : 6154752744 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

During IInd World War Atom Bomb was dropped at

(1) Tokyo

(2) Hiroshima

(3) Berhin
(4) Kabul
Options:

E1547510705. 1
E1547510706. 2
61547510707, 3
61547510708, 4

Question Number : 77 Question Id : 6154752744 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
G fava I & SHH WH] 99 39 O TR T A

(1) it
(2) LU
=
(3) EIGE]
(4) EAEG]
Options:

E1547510705. 1
E1547510706. 2
B1547510707. 3
51547510708, 4

Question Number : 78 Question Id : 6154752745 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



UNODA means

(1) United Nations Office for Disarmament Affairs

(2) United Nations Orgamization for Domestic Affairs

(3) Umted Nations Orgamization for Disarmament Arbitrations

(4) Umnited Nations Orgamzation for Development Affairs
Options:

6154751070591
61547510710, 2
E1547510711. 3
E1547510712. 4

Question Number : 78 Question Id : 6154752745 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

> e e et JR LB 0 s 1 o o -

(1)  FA32S 9 ATTEE T Sasmme s

(2) %iv-ll’:':is 9 ANHIE ST B SHEEF TR
(3)  FAIECS ATH AFFISATA B fSHAHE Ao
(4)  FAIEIS T9H ANFEIIA B SAATHAE TEIE

Options:

1547510703, 1
61547510710 2
61547510711, =
61547510712 4

Question Number : 79 Question Id : 6154752746 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

UNDC means

(1) United Nations Disarmament Commission
(2) United Nations Development Committee
(3) United Nations Disarmament Committee
(4) United Nations Deterrence Council

Options:



E1547510713. 1
61547510714 2
61547510715 3
61547510716, 4

Question Number : 79 Question Id : 6154752746 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

7.4 51 H e E

(1) IS u fsusmiEe FHeE

(2) JATZS A9H SdeidH—= FH2l

(3)  FAzes AuiE femwmE= FEd

() TS A9 Tz HEE

Options:

61547510713, 1
61547510714 2
61547510715 =
61547510716, 4

Question Number : 80 Question Id : 6154752747 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Identify the statement which does not support M.K. Gandhi’'s Philosophy.

(1) Non-Violence and Cowardice go 11l together

(2) Only truth quenches untruth

(3) There 12 no greater disgrace than cowardice
(4) Forgiveness 1n the quality of the weak
Options:

61547510717, 1
E15475107158. 2
E1547510713. 3
B1547510720. 4

Question Number : 80 Question Id : 6154752747 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



IH FYA F (AfEd A0 T TR, W] F 296w G9YE A8 Al B

(1) ATEET 3T FERGT ATY-T18 375779 2 2|

(2) el Tl AEA F TEA Al 7
(3)  FEAI T T FE A T 2

(4) &1 FHHAL F 9 E

Options:

61547510717, 1
61547510718, 2
61547510719 2
615475107204

Question Number : 81 Question Id : 6154752748 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which out of the following was established by M.K. Gandhi in 19107

(1) Indian opinion (2) Haryan Sewak Sangh
(3) Tolstoy Farm (4) Sabarmali Ashram
Options:

615475107211
E1547510722 2
61547510722 3
E1547510724. 4

Question Number : 81 Question Id : 6154752748 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

frfafaa o @ = @ wa.%. i grr 1910 § wfug g2 wn?

(1)  sfsZa sAdieE (2) == 9% 9y
(3)  ZEeiE wH (4) TEEEA] 3EE
Options:

615475107211
E1547510722. 2
E1547510723. 3
B1547510724. 4

Question Number : 82 Question Id : 6154752749 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



When did Gandh withdraw his Non-Cooperation Movement?

i1)

(3)

1920

1925

(2)

(4)

1922

1930

Options:

61547510725,
61547510726,
61547510727,
1547510728,

[ N Y

Question Number : 82 Question Id : 6154752749 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
T A SFEHEAT AT JE o e a?

(1) 1920 (2) 1922

(3) 1925 (4) 1930
Options:
61547510725,
E1547510726.
E1547510727.
61547510728,

[ N

Question Number : 83 Question Id : 6154752750 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Gandhi's first historical satyagraha in India was

(1) Bardoli satyagraha (2) Salt satyagraha
(3) Vykom satyagraha (4) Champaran satyagraha
Options:

615475107291
E1547510730. 2
E1547510721. 3
B1547510732. 4

Question Number : 83 Question Id : 6154752750 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
el w1 WA H TEeTl UaaEE HeawE o

(1) =z geanE (2) 9% AR

(3)  aEFME g9aEmE (4) TEIEY TEAE



Options:

61547510729, 1
61547510720 2
1547510721, 2
61547510732 4

Question Number : 84 Question Id : 6154752751 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The “Quit India Resolution™ was passed on

(1) St Ayoust. 1940 (2) 8® Aupust. 1942
(3) 8t Aygust. 1943 {4) &®0October. 1942
Options:

615475107321
E1547510734. 2
E1547510735. 3
61547510736, 4

Question Number : 84 Question Id : 6154752751 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

‘g TSt W =8 29 Wi R T

(1) 8 371, 1940 (2) 8 317+, 1942
(3) 8 37, 1943 (4) B HFZE, 1942
Options:

615475107331
61547510734, 2
61547510735 3
E1547510736. 4

Question Number : 85 Question Id : 6154752752 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The book “The Lonely Pilerim” was written by

(1) Manubehna Gandhi (2) Mahadev Desax
(3) Naravan Desai (4) J.J. Doke
Options:

E1547510737. 1
E1547510738. 2
B1547510739. 3



E1547510740. 4

Question Number : 85 Question Id : 6154752752 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘7w Ui’ e Sk g ford TS

(1)  =gs@ e (2) TEEE ZETE
(3) TR 25T (4) HH. =
Options:

615475107371
61547510738, 2
61547510739, 3
E1547510740. 4

Question Number : 86 Question Id : 6154752753 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In Yeravada Jail, M.K. Gandhi led the campaign against the

(1) Child-marriage (2) Sat1 Pratha
(3 Untouchability (4) Smoking
Options:

615475107411
61547510742 2
E1547510743. 3
E1547510744. 4

Question Number : 86 Question Id : 6154752753 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T 5§ UHF. T 3 7 g g 3w

() == = (2) = T
(3) AT (4) gEIH
Options:

E1547510741.1
B1547510742 2
61547510743, 3
61547510744, 4



Question Number : 87 Question Id : 6154752754 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who among the following was appointed as an arbitrator to settle the dispute of Textile
Workers at Ahmedabad 1in 19187

(1) Amrtlal Thakkar (2) Anand Shankar Dhruva
(3) Chandulal Chamanlal (4) K.G.Mashruwala
Options:

515475107451
61547510746, 2
G1547510747. 3
61547510745, 4

Question Number : 87 Question Id : 6154752754 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

1918 % = 9920 & a2 § frg ooy Fae o = v

(1)  =Haena 399 (2) AT g
(3)  =gEe SHA (4) .0, TEREETn
Options:

515475107451
61547510746, 2
61547510747, 3
61547510745, 4

Question Number : 88 Question Id : 6154752755 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Identify the author of the book “Why Prohibition”.

(1) Manubehna Gandh (2) M.K. Gandh
(3) Vinoba Bhave (4) Bharatan Kumarappa
Options:

515475107451
61547510750, 2
61547510751, 3
E1547510752. 4

Question Number : 88 Question Id : 6154752755 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



& i Y el 1 " o TR . T [
saly Mk M o ol d=h &l T™Hl-ad hIlaT

(1) =g e (2) TH. A
(3) T wE (4) 9T FEEE
Options:

E1547510745. 1
E1547510750. 2
51547510751, 3
61547510752, 4

Question Number : 89 Question Id : 6154752756 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

M.E. Gandhi was awarded Kaiser-e-Hind on

(1) 3rd June, 1915 (2) 23 June, 1915
(3) 39 July. 1915 (4) 23 July, 1915
Options:

615475107521
E1547510754. 2
E1547510755. 3
61547510756, 4

Question Number : 89 Question Id : 6154752756 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

= o) 1151 d o e e B e e pas L T o 0 O

(1) 334, 1915 (2) 2334, 1915
(3) 3 7=, 1915 (4) 237, 1915
Options:

515475107531
61547510754, 2
61547510755, 3
E154751075E6. 4

Question Number : 90 Question Id : 6154752757 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



“The mght hand 1s already pledged to Porbander”. was the statement of

(1) M.EK. Gandh1 (2) Karamchand Gandh
(3) Ota Gandha (4) Hamnlal Gandh1
Options:

615475107571
61547510758, 2
61547510759, 3
E1547510760. 4

Question Number : 90 Question Id : 6154752757 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“EfE F1Y UEH H A UNEE ° aueg B U S 91

(1) ™%, (2) FOHE M
(3) i (4) e T
Options:

E1547510757. 1
61547510758, 2
61547510755, 3
61547510760, 4

Question Number : 91 Question Id : 6154752758 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Satvagraha 1z Not a

(1) Philosophy of Life (2) War Without Violence
(3) Weapon of the Brave (4) Passive Resistance
Options:

61547510761, 1
E1547510762. 2
61547510763, 3
E1547510764. 4

Question Number : 91 Question Id : 6154752758 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



[
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(1) ==+ =94 (2) feomfza 3g
(3)  WEIE W EER (4) i gy
Options:

61547510761, 1
61547510762, 2
61547510763, 3
E1547510764. 4

Question Number : 92 Question Id : 6154752759 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

It 1s NOT a part of Satyvagraha

(1) Discipline (2) Humlity
(3) Secrecy (4) Patience
Options:

615475107651
61547510766, 2
E1547510767. 3
E1547510768. 4

Question Number : 92 Question Id : 6154752759 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1) FIEA (2) st
(3) Tt 4)

Options:

61547510765, 1
61547510766 2
1547510767, 2
1547510768 4

Question Number : 93 Question Id : 6154752760 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Identify the kings of Kosala kingdom who ruled during the Buddha’s time.

a. Mahakosala
b. Pasenadi

& Vidudabha

d. Brahmadatta

Choose the most appropriate option :

(1) a and b

(2) a.bandc
(3) a,.bandd
(4) b.cand d

Options:

61547510769, 1
61547510770 2
61547510771, 2
E1547510772. 4

Question Number : 93 Question Id : 6154752760 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



I W= F WA =ied 090 T9=H 92 * 999 ° 70 560

a. F <1
b ELECIC
c L
d E R

(1) a®mb
(2) a. b #T ¢
(3) abamd

4  b,cuRd
Options:
61547510769 1
61547510770, 2
61547510771 2
G1547510772. 4

Question Number : 94 Question Id : 6154752761 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Identify the important cities of the 6% Century BCE as mentioned in the Mahaparimbbana

Sutta.

4.

Rajagaha. Banarasa. Campa and Saketa

b. Kapilavatthu. Bodh - Gaya. Kusinara and Savatthi
c. Bodh - Gaya, EKusinara, Rajagaha and Vesah
d. Banarasa, Kausambi Champa and Saket

Choose the most appropriate option :

(1) a and b are correct

(2) b and ¢ are correct

(3) ¢ and d are correct

(4) a and d are correct
Options:

615475107731
61547510774, 2
61547510775 3
E1547510776. 4

Question Number : 94 Question Id : 6154752761 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) a A b AE 7
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Options:

61547510773, 1
61547510774 2
61547510775 2
1547510776, 4

Question Number : 95 Question Id : 6154752762 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Life events of Mahasthavira Krpasarana are as follows :

a. World Buddhist Fellowship recognizes him as pioneer of Indian Buddhist revival in
1972

b. Baudha Dharmankur Sabha established in 1392

Bengal Buddhist Association established 1n 1891

i

d. Jagajjvotl. a journal started 1n 1908

Choose the most appropriate option :

(1) All four statements are correct
(2) All of the four statements are incorrect
(3) a and d are correct
i4) b and c are corect
Options:

61547510777, 1
E1547510778. 2
B15475107739. 3
61547510780, 4

Question Number : 95 Question Id : 6154752762 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1) =fi=mad?
(2) it 9w Teg 2
(3) a #T d 97 7

(4) b AN cHAF
Options:
15475107771
1547510778 2
1547510779 2
15475107580 4

Question Number : 96 Question Id : 6154752763 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A large number of Buddhist manuscripts carried over to China and Tibet which in due

course of time were translated into Chinese and Tibetan languages.

a. The collection of Chinese Buddhist texts 1s popularly known as Taisho
b. Tibetan version known as Tanjur and Kanjur
c. Collectively Chinese and Tibetan manuscripts numbering 6753

Choose the most appropriate option :

{1) a and c are correct
(2) b and c are correct
(3) a and b are correct

(4) a. b and ¢ are correct



Options:

61547510781, 1
615475107382 2
1547510782 2
615475107384, 4

Question Number : 96 Question Id : 6154752763 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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c. it qa fassdt wefeia vwa e 6753 7|

TETaF Stad faFeg FHT
(1) adWcuz
(2) b AU c GFE
(3)  a @ b T B

(4)  SwEa wf wE
Options:
61547510781, 1
61547510782 2
61547510783, 3
61547510784, 4

Question Number : 97 Question Id : 6154752764 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following 1s/are grouped under the first noble truth; suffering :

a. Suffering of change

b. Cause of suffering

B, Cessation of suffering
d. All embraced suffering

Choose the most correct option :

(1) Only a and d
(2) Only b
(3) Onlyband ¢
(4) Only c

Options:

61547510785, 1
61547510786, 2
615475107387, 2
15475107288 4

Question Number : 97 Question Id : 6154752764 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) Hagadad
(2) Haa b
(3) FHaFbaqc

(4)  Hae c
Options:
1547510785, 1
1547510786 2
61547510787, 5
61547510788, 4

Question Number : 98 Question Id : 6154752765 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



According to B.R. Ambedkar. which of the following 1s NOT included in the characteristics of
true religion or Saddhamma?

a. Purification of defilements
b. Belief in Atma

e Encouragement of frmendliness

d. Based on speculation

e. Instrumental in breaking social bondage
f. Study of religious books

Choose the most appropriate option :

(1) a,b,cd

(2) b.d, f

(3) a.c, e

(4) d.e. f
Options:

615475107591
61547510730, 2
E1547510731. 3
E1547510732. 4

Question Number : 98 Question Id : 6154752765 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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T 3= Tae 1 =9 FHI0

(1) a.b,ed
(2) b.d. f
(3) a. c. e
(4) d.e.f
Options:

6154751078591
61547510730, 2
61547510731, 3
E1547510732. 4

Question Number : 99 Question Id : 6154752766 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following best describes the cardinal principle of Buddhist teachings?

a. The Principle of Ahimsa
b. The Theory of Karma

c. The Idea of Happiness
d. The Law of Dependent Origination
e. The Principle of Non-possessiveness

Identify the correct option :

(1) Onlvaande
{2) Onlvcande
(3) Onlvaande

(4) Onlvband d
Options:
615475107331
61547510734 2
61547510735 =
615475107396, 4

Question Number : 99 Question Id : 6154752766 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Tig WensAl = SAaRgd fagea = e TeE =7 9 al 2|

& AURE = g

(1) Fad addlc
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Options:

615475107933,
61547510794,
£1547510795,
61547510796,

o IR

Question Number : 100 Question Id : 6154752767 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Tsong Kha Pa wrote the book named “Lam Tso Nam Sum” or “The Three Principal Paths”.

Which one of the following 1s not a component of the three paths described 1n this text?

a. Renunciation

b. Right hivelihood
e Right view

d. Bodhicitta

e. Eightfold path

Choose the most appropriate option :

(1) a.b, e

(2) a.cd

(3) c.d. e

(4) a.c, e
Options:

615475107371
615475107358, 2
61547510739, 3
E1547510800. 4

Question Number : 100 Question Id : 6154752767 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) a,b,c
(2) a,. c.d
(3) c.d. e
(4) a.c, e
Options:
1547510737, 1
1547510798, 2
1547510799 2
1547510800, 4

Question Number : 101 Question Id ;: 6154752768 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



The place “Ladnun”™ 1s famous for

(a) Fine Art
(b) Publication of Agamas
(c) Publication of Jain History

(d) Publication of Journal “Tulasi Prajna”

Identify the correct option :

(1) (a) and (b)
(2) (b) and (c)
(3) (c) and (d)

(4)  (b) and (d)

Options:

61547510501, 1
61547510802, 2
61547510803 =
61547510804, 4

Question Number : 101 Question Id : 6154752768 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(d) gt S At W e
Tl fammen #i1 vmam it -

(1) (a) 4T (b)

(2) (b) 74T (c)

(3) (¢) 74 (d)

(4)  (b) T4 (d)

Options:

61547510801, 1
61547510802, 2
61547510803 2
1547510804, 4

Question Number : 102 Question Id : 6154752769 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The Father of Lord Parsvanath 1s known by two names

(a) Siddhartha

(b) Visvasena
(c) Vaszudeva
(d) Asvasena

Identify the correct option :

(1) Only (a) and (b)
(2)  Only (b) and (d)
(3) Only (a) and (c)
(4) Only (a) and (d)

Options:

615475105051
61547510806, 2
61547510807, =
61547510808, 4

Question Number : 102 Question 1d : 6154752769 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(a) Tugd
(b) CREE:
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(d) FvaEe

el TaFea =1 A i

(1)  =a= (a) 71 (b)
(2) = (b) 741 (d)
(3)  =AF (a) 741 (c)
(4)  FF9 (a) 79 (d)

Options:

615475102805, 1
1547510806, 2
61547510807, 5
61547510808, 4

Question Number : 103 Question Id ;: 6154752770 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Read the following :

Abhavadana 1s included 1n
(a) Ahimsa
(b) Aparigraha

(c) Social Service

(d) Anekantavada

Identify the correct option :

(1) Only (a) and (b)
(2) Only (b) and (c)
(3) Only (¢) and (d)

(4) Only (a) and (c)

Options:

61547510509 1
61547510210, 2
61547510811, =
61547510812, 4

Question Number : 103 Question Id ;: 6154752770 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(a) At
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(d)  FTHET

(1)  =ad (a) 797 (b)
(2)  =Ad (b) 9 (0)
(3) T4 (c) 99T (d)

(4)  FEA (a) T4 (c)

Options:

61547510809, 1
61547510810 2
61547510811, 2
1547510812 4

Question Number : 104 Question Id : 6154752771 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The following texts are composed by Hemachandra Sun

(a) Jain Tarkabhasza
(b) EKumarapala carita
(c) Sanmati Tarkaprakarana

(d) Kavvanusasana

Identify the correct option :

(1) Only (a) and (b)
(2) Only (b) and (d)
(3) Only (c) and (d)

(4) Only (a) and (d)
Options:

61547510813, 1
61547510814, 2
1547510815 2
1547510816 4

Question Number : 104 Question Id : 6154752771 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) === (a) 7941 (b)
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(4)  =a= (a) 797 (d)

Options:

51547510813, 1
61547510814, 2
61547510815 =
61547510816, 4

Question Number : 105 Question Id : 6154752772 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The text included in the Ardhamagadhi Anga Literature is

(a) Tilovapa px;att.i_
(b) Vvavahara
(c) Tirukkurala

(d) Acaranga sTtra

Identify the correct option :

(1) (a) and (b)
(2) (b) and (d)
(3) (b) and (c)

(4) (a) and (d)

Options:

61547510817, 1
61547510818, 2
61547510819 2
1547510820 4

Question Number : 105 Question Id : 6154752772 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(c) Taeagie
(d) AT
el T g

1) (a) 3T (b)
(2)  (b) AT (d)
(3)  (b) #H (c)

(4)  (a) ¥ (d)

Options:

61547510817, 1
61547510818, 2
61547510819 2
1547510820 4

Question Number : 106 Question Id : 6154752773 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The terms included in the seven elements are

(a) Aj iva
(b) Abhava
(c) Asrava
(d) Akasa

Identify the correct option :

(1) (a) and (b)
(2)  (b)and (¢)
(3)  (¢)and (d)
(4) (a) and (c)

Options:

615475105211
615475103822, 2
61547510822, 5
61547510824, 4

Question Number : 106 Question Id : 6154752773 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(a)  HATH
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1)  (a) 317 (b)
2 (b) ¥ (c)
3 (o) Fr(d)
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Options:

61547510821, 1
61547510822 2
61547510823 2
61547510824 4

Question Number : 107 Question Id : 6154752774 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The following statements are given as per Jain tradition

(a) Jaina Agamas were put to writing during the first recitation (vacana)
(b) The meamng of ‘Adharma’ substance 1s — “assistance in stopping”

(c) The meaning of “Samvara’ 1s “to stop the iIncoming karmas”

(d) The composition of Umasvat: 1s Pravacanasara

Identify the correct option :

(1)  (a)—(h)

(2) (a) — (c)

(3) (b) — (c)

(4 (b)—(d)
Options:

61547510825, 1
61547510826, 2
E1547510827. 3
E1547510828. 4

Question Number : 107 Question Id ;: 6154752774 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

515475108251
61547510826, 2
E1547510827. 3
E15475108258. 4

Question Number : 108 Question Id : 6154752775 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List I with List IT

List I List IT
(a) Mahavira (1) Adasdvatavada
(b) Pakudhakaccayana (1) Ajnanavada
(c) Sanjaya Belatthiputta (1) Krivavada
(d) Ajnta Kesakambah (iv) Akrivavada

Choose the most approprate option :

(1) (a)-(111). (b)-(1v). (c)-(11). (d)-(1)
(2) (a)-(mm1). (b)-(v). (c)-(1). (d)-(11)
(3)  (a)-(v). (b)-(ii). (c)-(11), (d)-(1)
@ (@-v). (b)), (o)-Gid), (d)-@1)

Options:

61547510829, 1
61547510830 2
61547510821, 2
1547510822 4

Question Number : 108 Question Id : 6154752775 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  (a)-). (b)-av). (c)-(), (d)-(1)
(2)  (@-(w). (b)-av). (¢)-Q). (d)-(11)
(3)  (@-(w). (b)-(a1). (c)-(0), (d)-(1)
4)  (a)-(v). (b)-(D). (e)-(111). (d)-(2)

Options:

61547510829, 1
61547510820 2
1547510821 2
61547510822 4

Question Number : 109 Question Id : 6154752776 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Read carefully the combinations :

a. Joan Bondurant —  Gandhi : The Man

b. M.K. Gandhi —  The Power of Non-Violence

C. Robert Payne —  The Life and Death of Mahatma Gandhi
d. Krshanlal Shnmdharami —  War without violence

Identify the correct match :

(1) aandc

(2) bandd

(3) bande

(4) candd
Options:

E1547510823. 1
B1547510824. 2
61547510835, 3
61547510836, 4

Question Number : 109 Question Id : 6154752776 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E1547510823. 1
B1547510824. 2
61547510835, 3
61547510836, 4

Question Number : 110 Question Id : 6154752777 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Identify the place where Gandhi coined the expression “Himalvan Miscalculation” which

earned wide currency afterwards :

a. Ahmedabad

b. Bombay
c. Nadiad
d. Wardha
e. Poona

Choose the correct option :

(1) aandb

(2) b andc

(3) Only c

(4) aande
Options:

61547510837, 1
61547510838, 2
E1547510839. 3
E1547510840. 4

Question Number : 110 Question Id : 6154752777 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E1547510837. 1
E1547510828. 2
61547510825, 3
61547510840, 4

Question Number : 111 Question Id : 6154752778 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Umnited Nations Disarmament Commission covers

a. Weapons of mass destruction
b. Conventional Arms

c. Regional Disarmament

d. Unilateral Disarmament

Identify the correct option :

(1) Onlyaandb
(2) Only b and ¢
(3) Onlycand d
(4) Onlya.bande

Options:

51547510841, 1
61547510842 2
61547510843 =
61547510844 4

Question Number : 111 Question Id : 6154752778 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



T T I A o S R
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(1) a9 a#nb
(2) Fa= b #c
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(4) Fada. bIle

Options:

61547510841, 1
61547510842 2
61547510843 =
61547510844 4

Question Number : 112 Question 1d : 6154752779 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Read carefully the combinations below :

a. Non—Cooperation Movement — 1917
b. Bardoh Satyagraha — 1928
C. Kheda Satvagraha — 1918
d. Valkom Satyagraha — 1920

Choose the most appropriate option :

(1) Only a and b are correct
(2) Only b and c are correct
(3) Only c and d are correct

(4) Only a and d are correct

Options:

61547510845, 1
61547510846, 2
E1547510847. 2
61547510848, 4

Question Number : 112 Question Id : 6154752779 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



a. STHEAM FTEEH — 1917
b. AETA HeATE - 1928
c. W oA — 1918
d.  TE®E e = 1920

(1) Fo a A7 b HEI B
(2) Fad b IR cHA B
(3) FadcHITAdTHE
(4) Fad a AR d GE B

Options:

61547510845, 1
61547510846, 2
E1547510847. 2
61547510245, 4

Question Number : 113 Question Id : 6154752780 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Read the following :

a. G.K. Gokhale — called Gandhi as the permanent and Super President of Indian
National Congress

b. C.F. Andrews — ‘Dinabandhu’

o8 J.L. Nehru — Hailed Gandhi as Mahatma’

d. Vinoba Bhave — Jai Jagat

Choose the most appropriate option :

(1) Only a and c correct
(2) Only a and b correct
(3) Only b and d correct

(4) Only ¢ and d correct

Options:

615475103849, 1
61547510850 2
61547510851, =
61547510852 4

Question Number : 113 Question 1d : 6154752780 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
£1547510849. 1
£1547510850. 2

61547510851, 2
61547510852, 4

Question Number : 114 Question 1d : 6154752781 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Read the following :

a. Bertrand Russel : Fact and Fiction

b. Mac Namara : “War 1s not the contribution of State Policy™

C. Hegel : War 1s neither an absolute evil nor an absclute accident
d. Machiavelli : “The means justify the end”

Choose the most appropriate option :

(1) a and c are correct

(2) b and c are correct

(3) a and d are correct

(4) a and b are correct
Options:

51547510853, 1
61547510854, 2
61547510855, 3
E1547510856. 4

Question Number : 114 Question Id : 6154752781 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Arerfafias =Y ,..?:, :

a. ¢S W — FFe U e

b. = FHT - g T A W AEE AE 2
6. dm - g o g 2 oo w @ sk e
d.  ifFEE - Cmem e W it fag e 2

e Fa N, il
Hllel=h SHA9d ==hed =l == L

(1) a 3R cTd 3
(2) bFERcTEE
(3) a#RdEHE
(4) a3 b EH =

Options:

1547510853, 1
E1547510854 2
61547510855,
61547510856, 4

Question Number : 115 Question Id ;: 6154752782 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Read the following :

a. Khan Abdul Gaffarkhan . Peace Builder
b. Harijan Sevak Sangh established by Gandhi . 1932

c. Agha EKhan Palace 1= situated at :  Ahmedabad
d. Gandhi Peace Foundation :  Sevagram

Choose the correctly matched option :

(1) aandc

(2) bandc

(3) aandb

(4) candd
Options:

E1547510857. 1
E1547510858. 2
51547510859, 3
61547510860, 4

Question Number : 115 Question 1d : 6154752782 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



SR O Eg::

b. et g B Hae =Y e 1932
e ST T G A 7 . FTEHETETE
d. el wnfa wfaeem . TETH
(1) a#Re

(2) b M ¢

(3) azmb

(49 c3id

Options:

51547510857, 1
61547510858, 2
E1547510859. 3
61547510860, 4

Question Number : 116 Question Id : 6154752783 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Identify the persons who were called by Gandhi “not as a prospective Ashramite, but
primarily to teach in the Ashram National School”.

a. Kaka Kalelkar

b. Kishorilal Mashruwala

c. Vinoba Bhave

d. C.F. Andrews

Choose the most appropriate option :

(1) Onlvaandb
(2) Only b and ¢
(3) Onlvcand d

(4) Onlvaandd

Options:

61547510861, 1
1547510862, 2
1547510862 2
61547510864, 4

Question Number : 116 Question Id : 6154752783 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



= Al =1 wEaE it fae e 3 vk wuiha SnaEEE & = A T8, afew mAiid 'Y 8 Aam

T TFa | e o4 % o fafga B o)

a. ":fa qnl '}.- '-'._"-' l:'-' ":Lq
b. ERaTATe T aTe
c. EEIEIRCIE]

d. H.UF, A

(1) a5 a¥mb
(2) FA@b IR
(3) aw c R d
(4) Fa9 a FRd

Options:

61547510861, 1
61547510862 2
61547510863 2
615475103864, 4

Question Number : 117 Question 1d : 6154752784 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Read carefully the following combinations :

a. Joan Bondurant 2 The conguest of violence
b. M.K. Gandhi : The Light of Asia

C. Adwin Arnold : The Song Celestial

d. Richard B. Gregg 2 War and Peace

Identify the correctly matched option :

(1) aandc

() aandd

(3) candd

(4) bandc
Options:

E1547510865. 1
E1547510866. 2
B1547510867. 3
51547510868, 4

Question Number : 117 Question 1d : 6154752784 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Tt TarE # aEgEgEE e

a. A g . B I HATE ST
[ . g =T AATF i

C. TSl 3 s IEf#FWiF%ﬁéqﬁ

d. f==& . =7 U fim

Gﬁ[é’l‘[ﬁu‘r“__ rrrl .JF I:

(1) a#nmec

(2) a#d

(3) cmd

49 baRe
Options:

51547510865, 1
61547510866, 2
E1547510867. 3
615475108658, 4

Question Number : 118 Question Id : 6154752785 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List I to List IT given below :

List I List IT
(Text Collection) (Number of Books)
(a) Tanjur (1) 1108
(b) Bunyiu Nanjio () 3458
(c) Hobagirin (1) 1662
(d) Kanjur (1v) 2184

Choose the most appropriate optlon :

(1) (-1, (b)-@i), (e)-Gv), (d)-)
(2)  (a)-w), (b)-(11), (c)-(1), (d)-(11)
(3)  (a)-(1). (b)-(m). (c)-(1), (d)-(v)
(4)  (2)-(i). (b)-(D), (¢)-(1). (d)-Gv)

Options:

61547510869, 1
61547510870 2
61547510871, 2
1547510872 4

Question Number : 118 Question Id : 6154752785 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



FeATertigd gei-1 = gei-11 F @19 gaiea Fifan

T=i-1 F=I-11
(erre TwE) (i i T
(a) A (i) 1108
(b)  FFF AT (i) 3458
(c) EMEIHEA (iii) 1662
(d) =t (iv) 2184

T 3=d {9y &1 =97 Fifao :

(1) (-G, (b)-(id). (e)-{v). (d)-O
(2)  (@)-wv). (b)-(11), (e)-1). (d)-(11)
(3  (a)-@. (b)-Gi). (c)-Gid), (d)-(v)
4 (a)-@i). (b)-GD). (0)-0). (d)-(Gv)

Options:
1547510889 1

E1547510870. 2
E1547510871. 3
B1547510872. 4

Question Number : 119 Question 1d : 6154752786 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Read the following lists :

LastI List IT
(a) Bulis (1)  Vethadipa
(b) Mallas (1) Ramagrama
(¢) Koliyas (m1) Pava
(d) Brahmana (iv) Allakappa

Choose the most appropriate option :

(1)  (a)-1). (b)-(11), (c)-(v). (d)-(11)
(2) (a)-(av). (b)-(11). (¢)-(11), (d)-(1)
(3) (a)-(iv), (b)-(1), (c)-(111), (d)-(1)
(4) (a)-(1). (b)-(11), (¢)-(11). (d)-(v)

Options:

15475108721

1547510874, 2

61547510875, 3
E154751087E6. 4

Question Number : 119 Question Id : 6154752786 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



=1 T=1-II
(a) ioE () dared
(b) H=A (i) TEIH
(¢) =iferaH (iii) w=
(d) @TEm (iv) AeoTF
Tattas IFaa faFeg &1 =999 i
(1) (a)-(1). (b)-(11). (c)-(v). (d)-(11)
(2) (a)-(iv). (b)-(11), (c)-(11), (d)-(1)
(3) (a)-(1v). (b)-(11). (e)-(1), (d)-(1)
(4) (a)-(1). (b)-(i1). (c)-(1). (d)-(iv)
Options:
61547510873, 1
61547510874, 2
£1547510875. 3
51547510876, 4

Question Number : 120 Question Id : 6154752787 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the items of Column I with Column IT :

Column I Column IT
(a) Digha Nikaya 1) 9550
(b) Majjhima Nikava (1) 7762
(c) Samyutta Nikaya (1) 34
(d) Anguttara Nikava av) 152

Choose the most appropriate option :

(1) (a)-(1). (b)-(1). (c)-(i1), (d)-(iv)
(2) (a)-(111). (b)-(iv). (e)-(11). (d)-@)
(3)  (a)-(n). (b)-G1). (0)-M. (dD-(v)
(4)  (a)-(1). (b)-v). (e)-A). (d)-@1i)

Options:

61547510877, 1
61547510878, 2
61547510879, 2
615475108380 4

Question Number : 120 Question 1d : 6154752787 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Fiea-1 i w2l Fi Hiew-I1 H 921 = 99 G i

=hieH -1 Freg-11
(a) == HFEE i) 9550
(b) A== F=Fm (i) 7762
(c) ¥Fa %A (i) 34
(d) = FFE (iv) 152

(1) (a)-(). (b)-(11). (e)-(1i), (d)-(iv)
(2) (a)-(111), (b)-(v), (c)-(11). (d)-(1)
(3) (a)-(11). (b)-(11). (c)-(1). (d)-(iv)
(4) (a)-(m). (b)-(iv). (e)-(1). (d)-(1)

Options:

61547510877, 1
1547510878 2
61547510879, 5
61547510880 4

Question Number : 121 Question Id : 6154752788 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the Last T with Tast IT :

List I List IT
(a) Rsabhanatha ()  Kundalapur
(b) Parsvanatha (1) Kondakunda
(c) Kundakunda (m) Ayodhya
(d) Mahavira (iv) Varanasi

Identify the correct option :

AR -

(2) (b) — 11

3) (-1

(4) (d)—1wv
Options:

615475108581, 1
E1547510882. 2
E1547510883. 3
51547510884, 4

Question Number : 121 Question Id ;: 6154752788 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



-1 1 gHi-11 § gHfd it

-1 11
(a) T (i) FEH
(b) TEATH (i) FUEErs
() Fa%7 (i) e
(d) wEER (iv) STt
(1) (a) —1
(2)  (b)—11
3) (©9-n
@  (d)-iv

Options:

61547510881, 1
61547510882, 2
61547510883 2
1547510824 4

Question Number : 122 Question Id : 6154752789 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the List T with List IT :

ListI List IT
(a) Kasava (1) Pramada
(b) Dana (i) Sukla
(c) Yoga (111) Sastra
(d) Asrava (iv) Maya

Identify the correct pair :

(1) (a) and (11)
(2) (b) and (111)
(3) (c) and (1)
4  (d) and (iv)

Options:

1547510885, 1
61547510886, 2
61547510887, 2
61547510888, 4

Question Number : 122 Question 1d : 6154752789 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Ti-1 1 g-11 & FgAfera ifom

=11 F=1-11
(a) I (1) TEE
(b) =™ (1) FIF
(c) =m (iii) ==
(dy === (1v) =T

HE T I TEEH A0

1) () 3 @)
2 (b) ¥ (iii)
3 (0@

4 (d) 3 (iv)

Options:

61547510885, 1
61547510886, 2
1547510887, 2
61547510288, 4

Question Number : 123 Question Id : 6154752790 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the List I with Last IT :

List I List IT
(a) Tapa Gaccha () Silaguna
(b) EKharatara Gaccha (1) Jagaccandra Sumn
(¢) AfTecala Gaccha (1) Vardhamana Sum
(d) Agamika Gaccha (iv) Vijay Singh Suri

Identify the correct option :

(1)  (a)-). (b)-(m), (c)-(w). (d)-(1)
2y (- (b)-(v). (©-1). (d)-(1)
(3) (a)-(v). (b)-(). (c)-(i1). (d)-(111)
@  (@-@. (b)-1). (¢)-(u), (d)-(v)

Options:

61547510889, 1
61547510890 2
61547510891, 2
1547510892 4

Question Number : 123 Question Id : 6154752790 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



T=-1 =1 gefi-11 & gufea Fifao .

T I Tt 11
(A) TS (i) e
(B) AU (i) “Fr=ag gR
(C) sATaeTT= (iii) FTgAH T
(D) HATTHE T (iv) Ta== gk

:I:]T:?[ 'ﬁ-]rf,r_\r':i 1_']_;:] L]\ i

D (@-GD). O)-([). ©-v). (d)-0)
(2) (a)-(11). (b)-(v). (c)-(1). (d)-(11)
(3) (a)-(v). (b)-). (c)-(i1), (d)-(11)
(4) (a)-(). (b)-(1). (e)-(111), (d)-(1v)

Options:

1547510889, 1
61547510890 2
61547510891, =
61547510892 4

Question Number : 124 Question 1d : 6154752791 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Identify the incorrectly matched option :

(1) Ramachandra Shukla : (Gandhi's frmend 1n South Africa
(2) Non-Cooperation Movement : Chauri—Chaura
(3) EKheda Satyagraha :  Omnion Thief
(4) Ahmedabad Mill Strike - Sheth Ambalal
Options:

51547510893, 1
51547510834, 2
61547510835, 3
61547510836, 4

Question Number : 124 Question Id : 6154752791 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



AT Bl T gAY

(1)  TH=Eg I : Ge 6 g T T
(2) THEAT AR =S R-=0
(3) ™SI OEwE e =9l

(4)  EETEE M-S ;Y8 A
Options:

61547510893, 1

61547510894, 2

61547510895, 3

61547510896, 4

Question Number : 125 Question Id : 6154752792 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Identify the incorrectly matched option :

(1) “You have thrown us to the wolves”. Bapu : Badshah Khan

(2) “The saint has left our shores, I sincerely hope forever” : General Smuts

(3) “War 1= an absolute necessity” : Mc Namara

(4) “It 1s my conviction that I should not prosecute the assailant. ...” : M. K. Gandh
Options:

B1547510897. 1
61547510838, 2
61547510839, 3
61547510300, 4

Question Number : 125 Question Id : 6154752792 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Tetd Hel 1 Tated Fifae

(1) =g, =194 =49 AisA & o 3is fomn 2 . STEIE @
(2)  H vfiEar ga wEen F foTU ST WA & % 6d 9 EA 9 31s G R . e T
(3) I HAGH AETIHA B . TR
(4)  TF T 5% f9vad T O SRRt W AE T8 "o |ien . g F T
Options:

£1547510837. 1



E154751083958. 2
51547510835, 3
51547510900, 4

Question Number : 126 Question Id : 6154752793 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Read carefully the List I and List II given below :

Last I Last IT
(a) Machiavelli (1)  The end justifies the means
(b) M.EK. Gandhi (11) Politics bereft of religion 1s a dirt
(c) Khan Abdul Gaffar Khan (1) My non-vioclence has almost become a matter of

faith with me

(dy Jawaharlal Nehru (1v) The light has gone

Identify the correctly matched option :

(1) (a)-(1). (b)-(11). (e)-(1). (d)-(v)
2)  (a)-v). (b)-[id), (c)-(1). (d)-@)
(3) (a)-(v), (b)-(1). (c)-(1i1), (d)-(1)
(4)  (a)-(v). (b)-(11). (c)-(). (d)-(11)

Options:

61547510901, 1

61547510902, 2

E15475108903. 3
E1547510904. 4

Question Number : 126 Question Id : 6154752793 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



feAfertEs gei-1 @91 g=1-11 #1 579 T 9fen

T=i-1 F=i-11
(a) HiwaTEE (1)  TEA T F Al fag w B
(b) TH.. TE (i) wHEFEEE TS 7=
(€) WM ¥Te=e TFFR @ (i) o wfEen =y W gvam w5 gmen 39 T
2
(d) = (iv) % Uo7

(1) (@-@. (b)-@w). (e)-(w), (d)-av)
(2) (a)-(v). (b)-(1). (e)-(11). (d)-()
(3)  (@-(w). (b)-(b). (c)-(m). (d)-Q)
4  (@-v). (b)-(n). (e)-(1). (d)-@w

Options:

61547510501, 1
61547510902, 2
61547510903 =
61547510304, 4

Question Number : 127 Question 1d : 6154752794 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Arrange 1n chronological order (from first to last) the following Mahatheras who were the

presidenst of Buddhist councils held during their respective period :
(a) Sabbakami

(b) Mogalhiputta Tissa

(c) Mahakassapa

(d) Vasumitra

Choose the most appropriate option :

(1) (a). (b). (c). (d)
(2) (c). (a). (b). (d)
(3) (c). (b). (a). (d)

4)  (a) (0. (d. (b)

Options:

61547510505 1
61547510906, 2
61547510907, 5
61547510308, 4

Question Number : 127 Question Id ;: 6154752794 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Frefeifiga ge9d, St w9l 3@y % SeE sig Siaa A9 9, H FHaN (Ted H #A4 o) SEiead

AT 3rad aehed 1 =999 Hirau

(1) (a). (b). (c). (d)
(2) (c). (a). (b). (d)
(3) (c). (b). (a). (d)

(4) (a). (c). (d). (b)

Options:

61547510505 1
61547510906, 2
61547510907, 5
61547510308, 4

Question Number : 128 Question Id ;: 6154752795 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Arrange the following Asian Countries where Buddhism was introduced In a sequence from

earliest to latest :

a. Tibet

b. Korea
e Japan
d. China

Choose the most appropriate option :

(1) a,bcd

(2) a,c,d b

(3) d.c.b,a

(4) d.b.c.a
Options:

E154751090%3. 1
61547510910, 2
61547510911, =
E154751091Z2. 4

Question Number : 128 Question Id : 6154752795 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



frefafiaa ofomns 3ot 1 9779 & 319 & 9 ° Fa digud ARy gun =4t i

(a) T
(b) i
(c) EILIE]
d ==

AT I TFeT F gE

(1) a.b,c.d

(2) a.c,d. b

(3) d.c.b, a

(4) d b,c a
Options:

E154751090%3. 1
51547510910, 2
61547510911, 3
61547510912 4

Question Number : 129 Question 1d : 6154752796 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Arrange the following Nidanas of dependent origination in order from the first to last :

Ignorance

SIxX sense organs
Birth
Consclousness
Craving

Name and form

o P T

Choose the most appropriate option :

(1) a.d.f.b.ec (2) a,b.c.d.e f
(3) a.c,b.d.e. f (4) a,c.b.e.d.f
Options:

E1547510913. 1
61547510914, 2
61547510915 3



E1547510916. 4

Question Number : 129 Question Id : 6154752796 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fferiiaa Tdffcaemene & FemT &1 w2 | SAfad % %9 5 =ategd Hif

R =T =

AT T ey = f:ilr;i*:l .

(1) a,d.f. b, ec () 4a.bedef
(3) a;c b, d et {4) =ae bredf
Options:

E1547510913. 1
51547510914, 2
51547510915 3
E1547510916. 4

Question Number : 130 Question Id : 6154752797 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Chronologically which one group 1s correct?

(1) Prasnavyakarana. AcAranga. Samavayanga

(2) Samavayanga . Prasnavyiakarana, Eﬂﬁraﬁga

(3) Ecﬁraflga. Samavavanga . Prasnavyakarana

(4) Prasnavyakarana. Samavayvanga. Ecﬁraflga
Options:

615475109171
615475109158, 2
£15475109149. 3
E1547510920. 4

Question Number : 130 Question Id : 6154752797 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



FIAFERT FH T T T 2

(1) OTFSATRT, AT, HHATEE

(2) T, O7TaTa, ST

(3)  FTEWT, HHAEN, WEASATH

(4) TSI, HHAET, ST
Options:

61547510917, 1
E1547510915. 2
E1547510913. 3
B1547510920. 4

Question Number : 131 Question Id ;: 6154752798 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Arrange the following texts in chronological order of their period — from the earliest to latest.

(a) Anekanta Jayva Pataka
(b) Mulacara

(e) Pramana - Mimansa
(d) Samavasara

(e) Tilovapannatti

Identify the correct option :

(1)  (a). (e). (c). (b). (d)
(2) (e). (c). (d). (b). (a)
(3)  (d). (b). (e). (a). (c)
(4) (d). (b). (a). (c). (e)

Options:

61547510921, 1
E1547510922. 2
61547510922, 5
61547510924, 4

Question Number : 131 Question Id ;: 6154752798 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



ffeafiEa 7= 1 WA 8 o9 SR A 7% FAFAEET Sated i

(a) S T T
(b) HEENR
(c) THTT HETET

(d) THTENR

(e)  TacTrauoRT

(1) (a). (e). (e). (b). (d)
(2) (e). (c). (d). (b). (a)
(3) (d). (b). (e). (a). (c)
(4) (d). (b). (a). (c). (e)

Options:

51547510921, 1
61547510922 2
61547510923 2
61547510924 4

Question Number : 132 Question Id : 6154752799 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Arrange the following institutions starting from North to South India.

(a) National Institute for Prakrit studies and Research
(b) Agam. Ahired. Samatd and Prakrit Shodh Sansthan

(c) L.D. Institute of Indology
(d) Jain Vishva Bharati Institute

(e) Veer Seva Mandir—Research Institute of Jainology

Identify the correct option :

(1) (e). (d). (c). (b). (a)
(2) (a). (b). (d). (c). (e)
(3) (e). (d). (b). (c). (a)
(4) (e). (a). (c). (d). (b)

Options:

61547510525 1
61547510926, 2
61547510927, 2
61547510928, 4

Question Number : 132 Question 1d : 6154752799 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Freferian Je4m1 1 39 ° T0EEh e 9d % 59 H gy hirao

(a)  TEE WHd HEIEA U Y TEAH

(b) AW, AfET, THAT UH TEA W HEAH
(d) =9 FwE e e

(e) =R =am HiE - H9 = Wy g

(1) (e). (d). (c). (b). (a)
(2)  (a). (b). (d). (c). (e)
(3)  (e). (d). (b). (c). (a)
(4) (e). (a). (c). (d). (b)

Options:

61547510925, 1
E1547510926. 2
1547510927, 5
61547510928, 4

Question Number : 133 Question Id : 6154752800 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Arrange the following publications in chronological order (From earliest to latest)

(a) Haryan
(b) Young India
(c) Indian opinion

(d) Hind Swaraj

Choose the correct option :

(1) (b). (c). (a). (d)
(2) (0. (d). (b). ()
(3)  (a). (). (d). (¢
4) (b, (a). (c). (d)

Options:

61547510929, 1
61547510930 2
61547510931, 2
1547510922 4

Question Number : 133 Question Id : 6154752800 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



frfafaa Tt # FAHET (Ted ° #AfAE) F #9 1 Saed i

(a)  EF=A
(b) = EEA

()  ==F A=A

(d) T =

e e

(1) (b). (c). (a). (d)
2)  (c). (d). (b). (a)
(3) (a). (b). (d). (¢)

(49 (b). (@) (). (d)

Options:
£1547510529. 1

E1547510920. 2
61547510921, 3
61547510932, 4

Question Number : 134 Question 1d : 6154752801 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Arrange the following in chronological order from earliest to latest :

(a) Non-Cooperation Movement
(b) Kheda satyvagraha
(c) Champaran satyaraha

(d) Bardoli satyagraha

Choose the correct option :

(1) (b). (a). (e). (d)
(2) (d). (a). (c). (b)
(3) (c). (b). (a), (d)

(4) {a). (d). (c). (b)

Options:

6154751058331
61547510924 2
61547510935 2
61547510936 4

Question Number : 134 Question 1d : 6154752801 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
fetcfaa =t Tr9 9 s1aaa % F =aten fifbe

(a)  FTHEA AR
(b) TSI TEWE

ic) '-']-Elll,l o=

(d)  =THEE T

(1) (b). (a). (c). (d)
(2) (d). (a). (c). (b)
(3) (c). (b). (a). (d)

i(4) (a). (d). (c). (b)



Options:

61547510933, 1
61547510924 2
E1547510935 =2
61547510926 4

Question Number : 135 Question Id : 6154752802 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Arrange the following 1n chronological order (From earliest to latest)

(a) Gandhi enters Alfred High School
(b) Gandhi goes to London for the first time
(c) Gandhi established his first Ashram in South Africa

(d) Gandhi starts the Champaran satyvagraha

Choose the correct option :

(1) (a). (d). (c). (b)
(2) (b). (a). (d). (e)
(3)  (a). (b). (c). (d)

4  (d. (@) (). ()

Options:

6154751058371
61547510928, 2
61547510929,
61547510940 4

Question Number : 135 Question Id ;: 6154752802 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



=

e

feATARad 1 FIAHER (799 J Afd") F F7 9 =ateag Hiraw

(a)  TIEf 7 SeFs wEeERd 9 gdw o
(b)  TIel TEet AW e |
() I = 31T UEeT IHAH S s § T e

(@ el A =uw weEE AR

i fome 9 -

D (@) @), (©. (b)
(2) (D). (a). (d). (c)
(3) (a). (b). (c). (d)
4)  (d. (@) (). (b)

Options:

61547510937, 1
61547510938, 2
61547510939 2
61547510940 4

Question Number : 136 Question Id : 6154752803 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Identify the person who had came to see M.K. Gandhi on his arrival at Victoria Hotel 1n
London

(1) Kevalram (2) Raychand bhai
(3) P.J. Mehta (4) Dada Abdulla
Options:

615475109411
61547510942 2
E1547510943. 3
E1547510944. 4

Question Number : 136 Question Id : 6154752803 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(1)  FaenE (2) TEEETE
(3) .. mEa (4) e Fegeen
Options:

E1547510941. 1
E1547510942 2
61547510943, 3
61547510944, 4

Question Number : 137 Question 1d : 6154752804 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Below are given Assertion (A) and Reasoning (R).

Assertion (A) : Now a davs. we find difference in the teachings of the Buddha from
various sources.

Reasoning (R): Buddhism was patronized by the great Indian kings like Asoka and also by
the forelgn invaders who became kings of Indian territories such as

Kaniska of Kusana dynasty.

Choose the most appropriate option :

(1) (A) 1s false but (R) 1s a reason to (A)

(2) (A) 1s true but (R) 1= not a reason to (A)

(3) (A) and (R) both true and (R) 12 a reason to (A)

(4) Both (A) and (R) are false and (R) 1s not a reason to (4)

Options:

51547510945, 1
61547510946, 2
61547510947, =
1547510948 4

Question Number : 137 Question 1d : 6154752804 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



= AlFTE (A) # 7% (R) 2 7w F|

ATF (A) BH ATSHRS A= | | g S [EsT 5 e 9 2
TF (R) : 9TH o HEF TS HH-F90F 4 H 3 eI AR AH -0 59 = e

(1)  (A)7=d 7, =i (R). (A) =1 %00 7|
(2)  (A) = 2, EEA (R). (A) 1 w00 95 2

(3) (A) 37T (R) T 751 & 797 (R). (A) F1 F10 2|

(4)  (A) W (R) =H T 7 997 (R), (A) F1 FRT T2 2

Options:

51547510945, 1
61547510946, 2
61547510947, =
1547510948 4

Question Number : 138 Question Id : 6154752805 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Read the two statements Assertion (A) and Reason (R) given below :

Assertion (A):  Things depends upon other things to originate.

Reason (R) : Izgnorance 1s the root cause of suffering.
Choose the most appropriate option given below :

(1) (A) 1s correct and (R) 1s a reason to (A)
(2) (A) 1s 1ncorrect and (R) 1s not a reason to (A)
(3) Both (A) and (R) are correct but (R) 1s not reason to (A)

(4) Both (A) and (R) are incorrect

Options:

61547510949, 1
61547510950 2
615475103951, =
61547510352 4



Question Number : 138 Question Id : 6154752805 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Tt 31 o, SAtaweE (A) 791 9% (R) i 9ieu
ARTHYT (A) - T IO £ FieT, g5 FEge W B 2
7 (R) : 2 1 g A0 A 2

Taita 3taa fageg =1 =27 $ifaw .

(1) (A =E 2 397 R). (A) T 7% 7|

(2) (A 7Ted 2 941 (R). (A) F1 9 @1 2

(3) (A a9 R) =A T8 7 WA (R). (A) F T A 7
@) (A TH R) A T

Options:

51547510949, 1
61547510350 2
615475103951, =
61547510952 4

Question Number : 139 Question Id : 6154752806 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Read the two statements Assertion (A) and Reasoning (R) given below :

Aszertion (A) : The Jain canons were written during the Vallabhi Recitation (Vacani) in

5t Century CE.

Reasoning (R): All monks and householders can do self study of Jain scriptures.

Identify the most correct option :

(1) (A) 1s true and (R) 1s the reason to (A)
(2) (A) 1s false and (R) 1s not a reason (A)
(3) Both (A) and (R) are true but (R) 1s not a reason to (A)

(4) Both (A) and (R) are false but (R) 1s a reason to (4)

Options:

61547510953, 1
61547510954 2
615475103955 2
61547510956 4

Question Number : 139 Question Id : 6154752806 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (AT 2, @A (R), (A) 7 FAT 2|
(2) ()T 2, SR (R). (A) F1 AT A R

(3)  (A) #T (R) 31 T&1 7, =0 (R). (A) =1 F001 78 7|

(4)  (A) #FT (R) AT T4 7, A (R), (A) 1 007 7|

Options:

61547510953, 1
61547510954 2
E1547510955 =2
61547510956, 4

Question Number : 140 Question Id : 6154752807 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Eead the two statements Assertion (A) and Reasoning (R) given below :

Assertion (A): According to Jain tradition, there are four kinds of charity for development

of society.

Eeaszoning (R): The activities of householders 1n Jainism are useful for society welfare by

g1ving medicines.

Identify the correct option :

(1) Both (A) and (R) are true but (R) 1s not reason to (A)
(2) Both (A) and (R) are true but (R) 1s a reason to (A)
(3) (A) 1= true and (R) 12 not a reason to it

(4) (A) 1= false and (R) 1s a reason to it

Options:

61547510957, 1
1547510958 2
£1547510959 =2
61547510960, 4

Question Number : 140 Question Id : 6154752807 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



= fam T T FeE-afaEeE (A) @7 7% (R) #1 Tien)

ATFEI (A) : S TR % AIAR T % A & W 3F % 9w 0w A
T B) ; S OH | AT gRT AT FHeA o SNt i TEH FH F ErRe S5 2|
Tl faed FHT

(1) (A) =7 R) 34 76 7, T (R). (A) F1 F00 T4 2
(2) (&) SR R) 3H T F, T (R). (A) FF R
(3)  (A)TE 7 A (R) 39 Fr0 Toi 7
(4) (A 7=E 2 #AR (R) 399 TF T 7
Options:
61547510957, 1
61547510958. 2

51547510959, 3
61547510960, 4

Sub-Section Number: 2
Sub-Section 1d: 615475124
Question Shuffling Allowed : Yes

Question Id : 6154752808 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Juestion Label - Comprehension

Read the passage carefully and attempt the guestions which follow.

Thus speaks the Beloved of Gods. the King Pivadassi : when I had been consecrated twelve
vears. I commanded as follows : Evervwhere in my empare, the yuktas. subordinate officers
with Rajukas. rural administrators and the Pradesikas. head of the districts. shall go on tour
every five vears, in order to instruct people in the Dhamma as well as for other purposes. It
15 good to be obedient to one’s mother and father. friends and relatives, to be generous to
brahmana and Sramanas. it 1s good not to kill living beings. 1t 1= good not only to spend

Iittle. but to own the minimum of propertv. The council will instruct the officials to record
the above, making 1t both manifest to the public and explaiming why.

Sub questions

Question Number : 141 Question Id : 6154752809 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



What was the command given to the council?
(A) : Instructed official to record the command of the king.
(B) : Not to explain and manifest the people.

Choose the most appropriate option :

(1) (A) 1s correct and (B) 15 not correct
(2) (A) and (B) both are correct

(3) (A) 1s not correct but (B) is correct
(4) (A) and (B) both are incorrect
Options:

61547510861, 1

61547510962, 2

E1547510963. 3
B1547510964. 4

Question Number : 142 Question Id ;: 6154752810 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In the given passage who was the higher official of the king.

Choose the most appropriate option :

(1) Yukta (2) Rajika
(3) Pradesika (4) Council
Options:

E15475108965. 1
E1547510966. 2
B1547510967. 3
51547510968, 4

Question Number : 143 Question 1d : 6154752811 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
People should be generous to whom?

(1) The King (2) Mother and Father
(3) Brahmana (4) Sramana and Brahmana
Options:

E154751096%9. 1
61547510970, 2
E1547510971. 3
B1547510972. 4

Question Number : 144 Question Id ;: 6154752812 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Identify the custodian of the command of the king

Choose the most appropriate option :

(1) Brahmana and Sramona (2) Pradesika
(3) Rajuka (4) Counecil
Options:

515475109731
61547510974 2
E1547510975. 3
61547510976, 4

Question Number : 145 Question Id : 6154752813 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In which vear of king's reign, the command was proclaimed?

(1) 12™ year (2) bH®year
(3) 4™ year (4) 20™ year
Options:

615475109771
61547510978, 2
E1547510979. 3
E1547510980. 4

Question Id : 6154752808 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Cuesticon Label | Comprehension

TH THNE, SATE A1 ISR Fad 7 ;5O USANYYE 5H % aWEd a9 ° 894 98 A9 A arE TenE -
T AR TEE IHET F TgE-USETE F Oy Sy SiPEE-g9 W Esg ° U g a9 § g
Al 37 T % fore ST s 3 % frw w0 st wer wE e, fE ik gste & o
ATATRR] TeAT AN WEY U9 GO0 % Ui 36R T F90l 7| A" 5ed] d=0] 91 A6 £ | Aol [masH] 5
& 76, sfcw =Han A0 1 F=E EET =S A9 2| IR SAEHE F IRE YA 55 B B e
Zaft A1 AT T B FHR T % e aw 96 R o 2

Sub questions

Question Number : 141 Question Id : 6154752809 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



WWTﬂﬂFﬂhTTriﬂTﬂTf

(B) : =M = A TEIH AR T2 F F o)
(1)  (A) 7 & 317 (B) 77 77 7

(2)  (A) 31 (B) 3 T 7

(3)  (A)=A T 7, S (B) HA 7|
(4)  (A) 3T (B) 21 T F

Options:

61547510961, 1
61547510962 2
61547510963 2
61547510964 4

Question Number : 142 Question 1d : 6154752810 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

I 9i=ae § T F I=gal AT i 917

(1) I (2) &+
(3) T (4) uftaE
Options:

E1547510965. 1
E154751096E, 2
E1547510967. 3
51547510968, 4

Question Number : 143 Question Id : 6154752811 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
=faad] &1 e Uid 321 £F1 9ET ¢

(1) 7= (2) =@ AR fuE
(3)  wmEm (4) HHT TR SEm
Options:

61547510969, 1
E1547510970. 2
B1547510971. 3
B1547510972. 4



Question Number : 144 Question Id : 6154752812 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

[ [ [
HAMTF 39F T=F=hed JHT -

(1)  sTem 3R 5H (2)  wEfErE
(3) T (4) uhwg
Options:

515475109731
61547510974 2
E1547510975. 3
61547510976, 4

Question Number : 145 Question Id : 6154752813 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AT % WA & R ad § amem gy s o 7

(1) 9Hsd =9 @) umEd A
(3) =iy =W (4) = =
Options:

BE1547510977.1
B1547510978. 2
615475109759, 3
61547510950, 4

Sub-Section Number: 3
Sub-Section 1d: 615475125
Question Shuffling Allowed : Yes

Question Id : 6154752814 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Cuestion Label © Comprehension



Read the passage carefully and attempt the questions which follow.

“The 1ssue between violence and non-viclence has now become more than ever a matter of
mmmediate and practical importance for us. We owe to Mahatma Gandhi this new word
non- viclence. He has presented it to us 1n the course of his patent technigue of resistance
known as Satvagraha. For more than thirty yvears now. he has been spending his
argumentative and demonstrative talents to make 1t conception clear to us. But still many of
us feel that 1t 1s either too subtle for our intelligence. or that 1ts practice 1s bevond our
mntelligence. or that its practice 1s bevond our capacity. On the other hand. we all understood
what violence 1s. We associate with it malevolence. hatred. revenge. enmity. murder. injury.
war. cruelty. barbarity. torture. deception. rape. loot. exploitation and so on™.

Sub questions

Question Number : 146 Question Id : 6154752815 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What 1s immediate and practically important for us?

(1) The concept of Non-violence
(2) The 1ssue between violence and non-violence
(3) Our association with many forms of viclence

(4) The concept of violence

Options:

61547510981, 1
61547510982 2
15475109282 2
61547510984, 4

Question Number : 147 Question Id : 6154752816 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What do we owe to Mahatma Gandha?

(1) The technique of resistance (2) Non-viclence
(3) Our association with violence (4) Our feeling that 1t 1= too subtle
Options:

51547510985, 1
E1547510986. 2
E1547510957. 3



E1547510988. 4

Question Number : 148 Question Id : 6154752817 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

How 1s 1t easy to understand the concept of violence and not the concept of non-violence?

(1) Violence has manifold in many forms such as malevolence, revenge, enmity, murder,

etc

(2) No personalities ike Gandhij has even tred their talent to make us understand

(3) We associate easily with many forms of violence
(4) Non-violence 1s too subtle
Options:

E1547510959. 1
E15475109380. 2
E1547510931. 3
B15475109392. 4

Question Number : 149 Question Id ;: 6154752818 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What 1s the hindrance to make the concept of resistance clear to us?

(1) The argumentative and demonstrative talent of Gandhip
(2) The concept of Satyagraha 1s very subtle

(3) Since 30 yvears, Gandhijl was spending his talent to clear it but we were not ready for

its practice

(4) Many of us feel against it

Options:

61547510553 1
61547510994, 2
61547510995
61547510996, 4

Question Number : 150 Question Id ;: 6154752819 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Why Gandhiji was spending his talent?

(1) He wanted to promote Satyagraha
(2) He wanted to excercise the technigue of non-violent passive resistance
(3) He wanted to make the concept of Satvagraha clearer

(4) He was argumentative and demonstrative mode for 30 years

Options:

61547510997, 1
E1547510998. 2
61547510999,
61547511000 4

Question Id : 6154752814 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Cesticn Label | Comprehiension
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Sub questions

Question Number : 146 Question Id : 6154752815 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  =Af=En 1 aamn
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(4) T2 it amamon

Options:

61547510981, 1
61547510982 2
1547510982 5
61547510984, 4

Question Number : 147 Question Id ;: 6154752816 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

HETCHT TTE =5 Wid ZHWT T4 HTHE 2|

(1)  wfaag i FFAF A e
(3) e @ zom meg (4) AT WE ® [ 97 959 g5 2
Options:

E15475108985. 1
E1547510986. 2
B1547510987. 3
515475109858, 4

Question Number : 148 Question 1d : 6154752817 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
51547510989, 1
615475109390 2

515475109381, 3



E1547510932. 4

Question Number : 149 Question Id : 6154752818 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
=0 Tiasiiy = FFER T72 F4 H T Ay 2 7

(1) e =i THETa U9 TSRS Tiadn|

(2)  HeqwE i TR A g5 2
(3)  m Al & et S 58 e we % foe sl ufan w9 e B9 I A F

foru d=m =7 2|

(4) FOE T 3FF F 9T IHF 9953 2|

Options:

51547510993, 1
61547510994, 2
61547510935 2
61547510996 4

Question Number : 150 Question Id : 6154752819 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
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